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Year 1 Semester II
SEMESTER END EXAMINATION
Transport Geography - TGEO0302

o This paper consists of EIGHT questions on FOUR (04) pages.

¢ Answer FIVE Questions including Question 01.

*  Only non-programmable calculators are allowed.

* You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

e  Write legibly

Date: 2022.09.27 Pass mark: 50% Time: 03 Hours

Question 01 (Compulsory)

Describe in your own words, the major challenges faced by urban freight
transportation in Sri Lanka and propose the solutions and mitigation strategies to
overcome those challenges. (20 Marks)

Question 02

It's being accepted worldwide that “There is no transportation without
geography and there’s no geography without transportation”.

a) Explain in your own words how transportation is influenced by geography as

well as influencing it. (06 Marks)

b) What's the difference between geographic concentration and geographic
specialization? (04 Marks)

c) Describe with an example in the modern day, how the transportation has
overcome physical environment with technology. (10 Marks)
Page 1 of 4
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Question 03

“COHO Delivery company struggles with the minimization of transportation costs in
their day to day operations as they don’t follow a proper transport network strategy to
deliver the parcels to their customers”.

a) As a student learning Transport Geography module, mention the most suitable
structure for the above scenario by highlighting the benefits of using the
mentioned network structure. (10 Marks)

b) “The reciprocity of transportation are majorly two types”. Mention and explain
the two types. (05 Marks)
¢) Name three transportations infrastructure and the constraints that they possess.

(05 Marks)
Question 04
a) “Containerized transportation substantially changed port dynamics”. Explain in

your own words. (05 Marks)
b) Distinguish between Monofunctional and Polyfunctional terminals. (06 Marks)

c) Briefly explain the factors that impact the airport traffic. (09 Marks)
Question 05

a) What's urbanization? What are the three major demographic trends that drives
urbanization? (07 Marks)

b) Explain the vicious cycle of congestion. (08 Marks)

¢) Explain how the two concepts called “Urban Sprawl” and “Transportation” are
related to each other. (05 Marks)
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Question 06
“Rail Terminals are majorly categorized into two as passenger and freight.

Thus, it’s known that Shunting yards are not necessarily a terminal since they

do not handle passengers or cargo”

a) Explain in your words, what shunting is? (05 Marks)
b) Explain the structural effect of “Adjacency “in the location of rail terminals.

(05 Marks)
c) Terminal dwell time is categorized majorly into three categories. Name and

describe in your own words, the three major types of terminal dwell time.

(06 Marks)
d) What're the major attributes linked with the performance of a transportation
terminal? (04 Marks)

Question 07

a) “Urban sprawl reflects a strong negative relationship between urban density and

automobile use emerged”. Explain (06 Marks)
b) The concept of city logistics has become popular in the recent past with the
urbanization. Explain in your words, the concept of “City Logistics”. (04 Marks)
¢) Explain in detail, the main driving factors of city logistics with appropriate

examples. (10 Marks)

Page 3 of 4
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Question 08
Write short notes on below topics

a) Manufacturing districts.
b) Congestion.
¢) Pendulum movements

d) Rationalization of deliveries.

END OF THE QUESTION PAPER

(04*05 Marks)
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Year 1 Semester 11

SEMESTER END EXAMINATION
Principles of Management - MAGT0361

e This paper consists of EIGHT questions on THREE (03) pages.

e Answer FIVE Questions including Question 01.

e Only non-programmable calculators are allowed.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e  Write legibly

Date: 2022.09.25 Pass mark: 50% Time: 03 Hours

Question 01: (Compulsory)

“Developments in the general environment (Macroenvironment) can shape the task
environment (Microenvironment)”. Explain how below listed factors/ forces impact a
business using examples.

a) Economic

b) Social Cultural

c) Competitors

d) Suppliers

(20 Marks)

Question 02

a) What is planning? Argue importance of planning function for an organization.

(10 Marks)
b) Explain the three major types of corporate strategies. (10 Marks)
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Question 03

a) List three (03) common traditional organizational structure? Explain two (02) types
with examples (10 Marks)

b) What is “Selection” in Human Resource Management Process? Explain two (02)
tools/ methods that could be used for selecting the correct candidate for the .
organization. (10 Marks)

Question 04

a) Using one of the early motivation theories, explain how companies could motivate
employees for high level of performance. (10 Marks)

b) “Specific goals increase performance and difficult goals, when accepted, result in
higher performance than do easy goals”. Explain how goals can be a motivator using
goal setting theory. (10 Marks)

Question 05

a) What is controlling? Discuss why controlling function is important to an .

organization? (12 Marks)
b) What is organizational performance? Discuss two measures of organizational
performance (08 Marks)
Question 06

Explain following terms.
a) Programmed Decision
b) Risk (Condition)
¢) Self-Managed work teams
d) Work Group
(05 Marks * 4 = 20 Marks)

Page 2 of 3
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Question 07

a) Like it or not, change happens and despite the potential positive outcomes, change
is often resisted at both the individual and the organisational level. Discuss why

. an individual in an organization resist to change. (12 Marks)
b) List 8 tools that could be used for communicating with employees in such
situation. (08 Marks)
Question 08

Compare and contrast the learnings under a selected behavioral theory and a contingency
theory of leadership. (20 Marks)

END OF THE QUESTION PAPER
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Year 1 Semester II
SEMESTER END EXAMINATION
Basic Knowledge in Engineering - ENGKO038I

¢ This paper consists of EIGHT questions on THREE (03) pages.

¢ Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

* You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

e Write legibly

Date: 2022.09.22 Pass mark: 50% Time: 03 Hours

-

Question 01 (Compulsory)

a) What is the purpose of MARPOL 73/78 ANNEXES? (04 Marks)
b) What are the MARPOL 73/78 ANNEXES? (10 Marks)
c) What is the maximum allowable oil content of bilge water to be discharge overboard
from machinery spaces? (02 Marks)
d) What is the purpose of Sewage treatment plant? (04 Marks)
Question 02
a) Sketch a refrigeration cycle and name the main components (clearly show the
direction of refrigerant flow and H. P. & L. P. sides) (08 Marks)
b) Briefly explain the function of main components of the refrigeration system.

(08 Marks)
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¢) Name 3 LM.O. recommended primary refrigerants. (04 Marks)
Question 03
a) Draw a block diagram of a ships steering gear system and mark major components.
(10 Marks)
b) What is “hunting gear” of the steering gear system? (05 Marks)
¢) What is the function of Telemotor Transmitter? (05 Marks)
Question 04
a) Write 5 types of pumps used on board ships and mention the purpose of they are
used? (10 Marks)
b) What are the 2 basic categories of pumps used on board ships? (02 Marks)
c) Briefly explain how centrifugal pump works. (08 Marks)
Question 05
a) What are the 2 basic types of boilers? (02 Marks)
b) Name 5 boiler mountings. (05 Marks)
c¢) What is the purpose of boiler safety valve? (05 Marks)
d) What is the purpose of water level gauge glass? (05 Marks)
e) What is a composite boiler? (03 Marks)
Question 06

Briefly describe the main purpose of following equipment used on board ships.

a) Fresh water generator (04 Marks)
b) Hatch covers (04 Marks)
Page 2 of 3
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) Air compressors
d) Heavy fuel oil purifier
e) Anchor windless
Question 07
a) What are the uses of following things on board ships?
i) Steam
ii) Compressed air
iii) Fresh water

b) What is the equipment used to store compressed air on board ships?
c) What is the purpose of oily water separator?

Question 08

a) What is Internal Combustion (I.C.) engine?

b) What is the main difference between 4-stroke & 2-stroke engine?

c) What are the 4 events (strokes) taking place in I.C. engine?

d) What are the important elements for combustion in marine fuel oils?

e) Mention 2 uses of medium speed engines.

(04 Marks)
(04 Marks)

(04 Marks)

(05 Marks)
(05 Marks)
(05 Marks)
(02 Marks)

(03 Marks)

(4 Marks)
(4 Marks)
(4 Marks)
(4 Marks)

(4 Marks)

END OF THE QUESTION PAPER---=--====nnn==-
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Year 1 Semester II
SEMESTER END EXAMINATION
English for Business II - ENGL10308

o This paper consists of FIVE questions on TWELVE (12) pages.

e Answer ALL Questions.

e Only non-programmable calculators are allowed.

. e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

o  Write leglbly

Date: 2022.09.20 Pass mark: 50% Time: 03 Hours

Section A - Business Vocabulary/ Structures

Question 1
A. Write the most appropriate word given within brackets in answer sheet (10 marks)
(i). The [supplementary/ complementary/ fringe] benefits include free health
insurance.
(ii). The people arrested claimed that they were political refugees, not
[affluent/economic/ transitory] migrants.
(iii). Most small cars are very [economical/ sophisticated/ outdated] to run.
(iv). Our strategy is risk [maximization/ minimization/ optimization], not risk
taking.
(v). It’s the industry which keeps our national economy [operated/ going/

moving].

Page 1 of 12
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(vi). The government devalued the currency to try to revive the [flagging/
losing/ changing] economy.

(vii). The black economy [stands/ booms/ disappears] when there is high
unemployment.

(viii). Investors want an immediate [income/fund/ return] on their capital.

(ix). [Liquidized/ Liquid/ Liquidity] assets can be sold very quickly.

(x). More tax [obligations/ responsibilities/ liabilities] are likely to minimize .
company’s income.

B. Complete the sentences putting the words in the second part in the correct order. (10
marks)

(i). The research philosophy is the foundation of any study asit.....................

................................................................................................

...................................................................................................

[dependent/ iﬁdependent/ a/ the/ the/ change/ variable/ observe/ .
variable/ to/ in]

(iii). A case study is a detailed study of a single subject ............cco.ooiiiiiii

...................................................................................................

[an in-depth/gain/ context/ the/ the/ study/ of/ to/ understanding/
within]
(iv). A longitudinal time horizon for data collection refers to ...........................

...................................................................................................

Page 2 of 12
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[period/ collection/ an/ extended/the/ data/ of/ repeatedly/ over]
(v). Quantitative is predominantly used as a synonym for ................coooeiniinn.

...................................................................................................

[numerical data/ that/any data/ generates/ technique/ uses/
collection/ or]

Section B - English in Pragmatic/ Realistic Settings

Question 2

A. Identify the errors in the following sentences and rewrite correcting them.
(10 marks)

Example:  There isn’t some work.
There isn’t any work.
(1) Everybody have completed an internship.  ....uoumasmissmsesmasssssones
Gi). He-wan scctsesd of PIaganistu R0l v iimasasssimsmmsrenysiaisisos o
(iii). Statistics are a useful subject. .........coccviuiiiiiiiiiiiiiiii
(v} You haven 't DR GBIORD. BOT wivwumvmiisns e s S E sy vasos
(v). The manager praised him because he works hardly. ......................ocee
(vi). The event is held annually every year. ...........c.ccoevvviiiiniiiiiniiiiiinnnn
(vii). Thé thanager hasn't yel come 1o Office. .....viuiiimmsmninstiinmmnmmsmeensasnsmes
(i), You coldn t go there dIARE JORE ..ororsaimemmmsimmirssmnsmesmmimmns
(ix). Yourdissertation hag many- muisBKeS. e mompsunes bssssms
(). I thinic e 18 SeniBF TR YOI, .ovsrimmtsbnmomensrsiisthiimansnrs i g ¥
B. Write the functions of the following expressions used in everyday language

choosing from the box. (10 marks)

certainty, obligation, permission, suggestion, ability, prohibition, no necessity,
criticism, assumption, possibility, #eguest

Lh
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Example: Could you help me with my dissertation? [request]
(i). Can you invest in the new project?

.................................

.................................

.................................

(v). A company’s business model must take into consideration social, economic
and environmental factors.

.................................

..............................

.....................................

Page 4 of 12
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Section C - Comprehension

Question 3

L

IL.

II1.

Read the following instruction given about the use of auxiliary verbs and
fill in the blank accurately with an auxiliary verb or verbs. (05 marks)

To avoid repeating words from a previous clause or sentence we use an
auxiliary verb such as be, have or modals instead of a whole verb group or
instead of a verb and what follows it. If there is more than one auxiliary verb
in the previous clause or sentence, we leave out all the auxiliary verbs except
the first instead of repeating the main verb. Alternatively, we can use two or
more auxiliary verbs.

“I'm not quite sure whether Mrs. Ruwanthi had been invited to the party,
DAL T TORMREAEL. . oo g it s s R T i A IS S y

Read the advantages of Cork bottle stoppers and fill in the given blanks.
(05 marks)

The classic cork stopper does have several advantages, however. Firstly, its
traditional image is more in keeping with that of the type of high quality goods
with which it has long been associated. Secondly, and very importantly, cork
is a sustainable product that can be recycled without difficulty. Moreover, cork
forests are a resource which support local biodiversity and prevent
desertification in the regions where they are planted.

Cork suits the (1) ussisssmsumsmsene of quality products

1618 bl AYOITL A (1) s cumns stisammenrsmmnae material.

L3 TRS T  RR———

R T ——

Gk SRS nlon’ (V)msismsampnciimmesimeis s

Read the following passage and write in the blanks “Yes’ if the given
statements agree with the claims of the writer, ‘No’ if the statement

Page 5 of 12
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contradicts the claims of the writer. “Not given’ if it is impossible to think
what the writer thinks about this. (10 marks)

After a number of serious failures of governance (that is how they are managed
at the highest level), companies in Britain, as well as elsewhere, should
consider radical changes to their directors’ roles. It is clear that the role of a
board director is not an easy one. Following a financial breakdown in 2008,
which resulted in a deeper and more prolonged period of economic downturn
that anyone expected, the search for explanations in the many post mortems of
the crisis has meant blame has been spread far and wide. Governments,
regulators, central banks and auditors have all been in the frame. The role of
bank directors and management and their widely publicized failures have been
extensively picked over and examined in reports, inquiries and commentaries.

Often, board business is devolved to committees in order to cope with the
workload, which may be more efficient but can mean that the board as a whole
is less involved in fully addressing some of the most important issues. It is not
uncommon for the audit committee meeting to last longer than the main board
meeting itself. Process may take the place of discussion and be at the expense
of real collaboration, so that boxes are ticked rather than issues tackled.

(i). Itis suggested that directors’ roles need not undergo through and
complete changes everywhere. ............c...o.ooonnns

(ii). Continued economic downturn after financial breakdown in 2008 was
hardly expected. ......c..ccooernnnnne

(iii). In addition to government regulators, central banks and auditors, even
the retailers were among the blamed in the frame. ...............c....ooeen

(iv). Not only reports but also inquiries and commentaries reveal the failures
of the work of bank directors and management. ......................

(v). Some responsibilities of the board business have been transferred to a
committee structure to enhance efficiency. ............c.oooeiinnn

Page 6 of 12
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Section D - Presenting Information

Question 4
A. Correct the underlined errors in the following description of a bar graph and write

in the given blanks. Chocolate consumption - in kilos per head in 2018. (10 marks)

Country Kilos per head |Kilos per head | Total kilos per head
female male

Switzerland 5.0 5.3 10.3

Australia 22 2.2 4.4

Sri Lanka 0.5 04 0.9

The table provides information on how much chocolate were consuming (i)..................

in a range of different countries in the world. It is shown (ii).................. the number of
kilos per head were eating (iii)..................... in 2018 and provides a breakdown of these

tigures for men and women.

Total chocolate consumption ranges from 0.9 to 10.3 kilos per head. The country with the

most _high (iv)...........o..oeu... consumption of chocolate is Switzerland, where an
average of 10.3 kilos consuming (v)................... per person. In other countries, we do
not see a similar consumed (vVi)................... pattern. By contrast, Sri Lankans ate a lesser
1 ) (R amount of chocolate.

amount of chocolate as men. An equal number of men and women would eat (ix)...........
chocolate during the period under consideration.

Overall, it seems that very different quantities of chocolate are eaten around the world
but in general, the product is best (X)......ccisemimenice popular in Europe than elsewhere.

Page 7 of 12
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features and make comparisons where relevant. (10 marks)

The table gives information on the ages of the population of Yemen and Italy in

2000 and projections for 2050.

00013

Yemen Italy
Year 0-14 years | 15-59 years |60 + years | 0-14 years | 15-59 years | 60 + years
2020 50.1% 46.3% 3.6% 14.3% 61.6% 24.1%
2050 37.0% 57.3% .7 11.5% 46.2% 42.2% |
Write at least 100 words.
Page 8 of 12
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Section E - Business Writing

Question 5
A. In the conclusion of the following report, ten phrases or sentences are missing.

Write the number of the missing phrases or clauses given separately in the blanks
where they should fit in. (10 marks)

The careful and thorough study of the behavior, working atmosphere and
e.g. (iv) working at restaurants in the Colombo metropolitan area implies that
essential and integral components of the rewarding system expected for Caffee
Bravo should include (a).............. for working hours as a crucial extrinsic factor to
retain the employees and a flexible leave plan without (b)............ as an intrinsic
motivational factor.

The employees working in the restaurant networks in Colombo (c)............. Only a
minority of youth living in Colombo and its suburbs work in restaurants. Further,
there is a quite a number of leading restaurants in Colombo and even (d)............
them to join another in the immediate vicinity. Thus, for Caffee Bravo to keep
employees attracted, implementing (e)............ with fringe benefits is indispensable.

The targeted employees for Caffee Bravo are mostly (f........... and generally
studied up to G.C.E (O/L) in the country. So their aspirations are comparatively
low and lack commitment for long term career success. In addition, (g)........... and
expect lenient rules to enjoy life. Due to this life style, when they are not given
freedom and ample leave, once they leave for villages after a period of work, they
don’t usually return to work. (h)........... by most restaurant owners in the country.

Therefore, it is recommended for Caffee Bravo to have an eight-hour shifts for the
employees with a competitive hourly payment and making the employees aware
that (D They can even exchange shifts with their colleague employees. While
maintaining a friendly working atmosphere with encouraging remarks and
rewards, a weekly (j........... for the three outlets in Colombo.

(i). a little dissatisfaction may compel

(ii). any hard and fast rules

Page 9 of 12
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(iii). the youth qualified in the hotel schools
(iv). the aspirations of the employees e.g.
(v). It is common issue faced
(vi). a competitively higher hourly payment in the industry
(vii). are mostly outstation
(viii). scheduled work plan is recommended
(ix). the suggested reward system .
(x). the dreams of the majority in this group are simple
(xi). they have a flexible leave system.
B. You work as secretary to’ a director of an advertising agency. The board has decided

to outsource some of the agency’s IT work and you have been asked to look at
possible contractors to do this work and prepare a proposal. Write the proposal for
outsourcing using the information and the notes given below. (10 marks)

AdDirect, Colombo 07 (note: quite expensive)

e Set up, maintain and update company websites (note: would save money

because....)
¢ data systems security and 199 emergency telephone hotline (note: didn’t have
this facility last year because....... ) .

e installation and maintenance of communication systems
Techno Excela, Malabe - We provide (note: cheaper but ....)

e online IT support and training (note: too late! Staff given this last year, so ..)
e website hosting (note: But we need web design)
¢ tailored programs supplied and installed

Page 10 of 12
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Use the following format:

Introduction - AdDirect- Techno Excela - Recommendations

Write at least 150 words.

............................................................................................................
............................................................................................................
............................................................................................................
------------------------------------------------------------------------------------------------------------
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................

------------------------------------------------------------------------------------------------------------
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..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

..........................................................................................

00013

..................

..................

..................

..................

------------------

..................

simsncsnassiBND OF THE QUESTION PAPER -sessssos
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Year 1 Semester 11
SEMESTER END EXAMINATION
English for Business II - ENGL10308

e This paper consists of FIVE questions on TWELVE (12) pages.

e Answer ALL Questions.

* Only non-programmable calculators are allowed.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

e If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

e  Write legibly

Date: 2022.09.20 Pass mark: 50% Time: 03 Hours

Section A - Business Vocabulary/ Structures

Question 1
A. Write the most appropriate word given within brackets in answer sheet (10 marks)
1). Ihe [supplementa complementar ringe| benetits include free healt
). Th pp!l ry pl y/ fringe] benefits include free health
insurance.
11). Ihe people arrested claimed that they were political retfugees, not
ii). The peopl d claimed that they political refug
[affluent/economic/ transitory] migrants.
(iii). Most small cars are very [economical/ sophisticated/ outdated] to run.
(iv). Our strategy is risk [maximization/ minimization/ optimization], not risk
taking.
(v). It's the industry which keeps our national economy [operated/ going/

moving].
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(vi). The government devalued the currency to try to revive the [flagging/
losing/ changing] economy.

(vii). The black economy [stands/ booms/ disappears] when there is high
unemployment.

(viii). Investors want an immediate [income/fund/ return] on their capital.

(ix). [Liquidized/ Liquid/ Liquidity] assets can be sold very quickly.

(x). More tax [obligations/ responsibilities/ liabilities] are likely to minimize .
company’s income.

B. Complete the sentences putting the words in the second part in the correct order. (10
marks)

(i). The research philosophy is the foundation of any study asit.....................

................................................................................................

...................................................................................................

[dependent/ independent/ a/ the/ the/ change/ variable/ observe/ .
variable/ to/ in]

(iii). A case study is a detailed study of a single BUDJEEE iuxvssssansvmnaesistummmnnmensssss

...................................................................................................

[an in-depth/gain/ context/ the/ the/ study/ of/ to/ understanding/
within]
(iv). A longitudinal time horizon for data collection refers to .....ccoceivereveennncnnes

...........................
.........................................................................
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[period/ collection/ an/ extended/the/ data/ of/ repeatedly/ over]
(v). Quantitative is predominantly used as a synonym for .............cccoceeveininnn.n

...................................................................................................

[numerical data/ that/any data/ generates/ technique/ uses/
collection/ or]

. Section B - English in Pragmatic/ Realistic Settings
Question 2

A. Identify the errors in the following sentences and rewrite correcting them.
(10 marks) -

Example:  There isn’t some work.
There isn’t any work.
(i). Everybody have completed an internship. = ........c.cccoviminiiiinnniaiinne.
(i), He wasaceused of plagiagiern, TIOT  .opuntiniiniomsnimmisiivmsumssmsiasass
(iii). Statistics are a useful subject. ..........ccoeviiiiiiiiiiiiiii s
(iv). You haven’t been abroad, N0O? ..........ccooviiiiiiiiiiiiiiiiiiieee e,
(v). The manager praised him because he works hardly. .............ccccooeevin
(vi). The event is held annually every year, ........ccoversssennsesssansensissonsrnsasnons
(vii). The manager hasn’t yet come to office. .............ocoviiiiiiiiiiiiiiiinnnnn.
(wain). Yo eoulda't pohes i EYoT . oo ooisdismmmiramyibuiiammeivayni
(i), Your dissertation has THEny misbAkes, .. oamsuesswivsosnamossimmsnssisserssasiimn
(R): 1 IR e 18 SertiOr SNBE WO ovunimnmn st o SRR ms s s b ot e 8
B. Write the functions of the following expressions used in everyday language

choosing from the box. (10 marks)

certainty, obligation, permission, suggestion, ability, prohibition, no necessity,
criticism, assumption, possibility, #equest
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Example: Could you help me with my dissertation? [request]
(i). Can you invest in the new project?

.................................
.................................
.................................

(v). A company’s business model must take into consideration social, economic
and environmental factors.

---------------------------------
..........................
..............................
.....................................

...............................
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Section C - Comprehension

Question 3

[ £

) § 3

III.

Read the following instruction given about the use of auxiliary verbs and
fill in the blank accurately with an auxiliary verb or verbs. (05 marks)

To avoid repeating words from a previous clause or sentence we use an
auxiliary verb such as be, have or modals instead of a whole verb group or
instead of a verb and what follows it. If there is more than one auxiliary verb
in the previous clause or sentence, we leave out all the auxiliary verbs except
the first instead of repeating the main verb. Alternatively, we can use two or
more auxiliary verbs.

“I'm not quite sure whether Mrs. Ruwanthi had been invited to the party,
STy Tl SRR oo conmmin sarimmrbs i s s i b v S S o

Read the advantages of Cork bottle stoppers and fill in the given blanks.
(05 marks)

The classic cork stopper does have several advantages, however. Firstly, its
traditional image is more in keeping with that of the type of high quality goods
with which it has long been associated. Secondly, and very importantly, cork
is a sustainable product that can be recycled without difficulty. Moreover, cork
forests are a resource which support local biodiversity and prevent
desertification in the regions where they are planted.

Corksails the (s of quality products

Itismade froma (i)............ccoeeiinnnns material.

Thimeasly (). ominmcaaemmarsasnsses

Cork forests aid (iv)........coevvvienrnnnnnn

Cotl foresls 80D (V) cwummmmssnmmsmnssssn

Read the following passage and write in the blanks ‘Yes” if the given
statements agree with the claims of the writer, ‘No’ if the statement
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contradicts the claims of the writer. “Not given’ if it is impossible to think
what the writer thinks about this. (10 marks)

After a number of serious failures of governance (that is how they are managed
at the highest level), companies in Britain, as well as elsewhere, should
consider radical changes to their directors’ roles. It is clear that the role of a
board director is not an easy one. Following a financial breakdown in 2008,
which resulted in a deeper and more prolonged period of economic downturn
that anyone expected, the search for explanations in the many post mortems of
the crisis has meant blame has been spread far and wide. Governments,
regulators, central banks and auditors have all been in the frame. The role of
bank directors and management and their widely publicized failures have been
extensively picked over and examined in reports, inquiries and commentaries.

Often, board business is devolved to committees in order to cope with the
workload, which may be more efficient but can mean that the board as a whole
is less involved in fully addressing some of the most important issues. It is not
uncommon for the audit committee meeting to last longer than the main board
meeting itself. Process may take the place of discussion and be at the expense
of real collaboration, so that boxes are ticked rather than issues tackled.

(i). Itis suggested that directors’ roles need not undergo through and
complete changes everywhere. ............cc.ceiinne

(ii). Continued economic downturn after financial breakdown in 2008 was
HorOly BXPEEIedl. ...comscnnmmnsunsniin

(iii). In addition to government regulators, central banks and auditors, even
the retailers were among the blamed in the frame. .........................

(iv). Not only reports but also inquiries and commentaries reveal the failures
of the work of bank directors and management. ......................

(v). Some responsibilities of the board business have been transferred to a
committee structure to enhance efficiency. ...............c.ooenn.
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Section D - Presenting Information

Question 4
A. Correct the underlined errors in the following description of a bar graph and write

in the given blanks. Chocolate consumption - in kilos per head in 2018. (10 marks)

Country Kilos per head |Kilos per head | Total kilos per head
female male

Switzerland 5.0 D 10.3

Australia 2.2 2.2 44

Sri Lanka 0.5 0.4 0.9

The table provides information on how much chocolate were consuming (i)..................

in a range of different countries in the world. It is shown (ii).................. the number of
kilos per head were eating (iii)..................... in 2018 and provides a breakdown of these

figures for men and women.

Total chocolate consumption ranges from 0.9 to 10.3 kilos per head. The country with the

most _high (iv).........c.c..one..e. consumption of chocolate is Switzerland, where an
average of 10.3 kilos consuming (v)................... per person. In other countries, we do
not see a similar consumed (Vi)................... pattern. By contrast, Sri Lankans ate a lesser
574 £ | [ —. amount of chocolate.

As far as consumption of men and women is concerned, there is generally little different
2 L1 | A — between the two. In most cases, women eat almost the same
amount of chocolate as men. An equal number of men and women would eat (ix)...........
chocolate during the period under consideration.

Overall, it seems that very different quantities of chocolate are eaten around the world
but in general, the product is best (x)................... popular in Europe than elsewhere.

Page 7 of 12



CINEC 00023

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

B. Summarize the information given in the table by selecting and reporting the main
features and make comparisons where relevant. (10 marks)

The table gives information on the ages of the population of Yemen and Italy in
2000 and projections for 2050.

Yemen Italy
Year 0-14 years | 15-59 years | 60 + years | 0-14 years | 15-59 years | 60 + years
2020 50.1% 46.3% 3.6% 14.3% 61.6% 24.1% .
2050 37.0% 57.3% 5.7% 11.5% 46.2% 42.2%
Write at least 100 words.
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Section E - Business Writing

Question 5
A. In the conclusion of the following report, ten phrases or sentences are missing.

Write the number of the missing phrases or clauses given separately in the blanks
where they should fit in. (10 marks)

. The careful and thorough study of the behavior, wofking atmosphere and

e.g. (iv) working at restaurants in the Colombo metropolitan area implies that
essential and integral components of the rewarding system expected for Caffee
Bravo should include (a).............. for working hours as a crucial extrinsic factor to
retain the employees and a flexible leave plan without (b)............ as an intrinsic
motivational factor.

The employees working in the restaurant networks in Colombo (c)............. Only a
minority of youth living in Colombo and its suburbs work in restaurants. Further,
there is a quite a number of leading restaurants in Colombo and even (d)............
them to join another in the immediate vicinity. Thus, for Caffee Bravo to keep
employees attracted, implementing (e)............ with fringe benefits is indispensable.

The targeted employees for Caffee Bravo are mostly (f).......... and generally
studied up to G.C.E (O/L) in the country. So their aspirations are comparatively
low and lack commitment for long term career success. In addition, (g)........... and
. expect lenient rules to enjoy life. Due to this life style, when they are not given
freedom and ample leave, once they leave for villages after a period of work, they
don’t usually return to work. (h)........... by most restaurant owners in the country.

Therefore, it is recommended for Caffee Bravo to have an eight-hour shifts for the
employees with a competitive hourly payment and making the employees aware
that ()..ceeeuenes They can even exchange shifts with their colleague employees. While
maintaining a friendly working atmosphere with encouraging remarks and
rewards, a weekly (j........... for the three outlets in Colombo.

(i). a little dissatisfaction may compel

(ii). any hard and fast rules
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(iii). the youth qualified in the hotel schools
(iv). the aspirations of the employees e.g.
(v). It is common issue faced
(vi). a competitively higher hourly payment in the industry
(vii). are mostly outstation
(viii). scheduled work plan is recommended
(ix). the suggested reward system
(x). the dreams of the majority in this group are simple
(xi). they have a flexible leave system.
B. You work as secretary to a director of an advertising agency. The board has decided

to outsource some of the agency’s IT work and you have been asked to look at
possible contractors to do this work and prepare a proposal. Write the proposal for
outsourcing using the information and the notes given below. (10 marks)

AdDirect, Colombo 07 (note: quite expensive)

e Set up, maintain and update company websites (note: would save money
because....)

e data systems security and 199 emergency telephone hotline (note: didn’t have
this facility last year because....... ) .

e installation and maintenance of communication systems

Techno Excela, Malabe - We provide (note: cheaper but ....)

e online IT support and training (note: too late! Staff given this last year, so ..)
e website hosting (note: But we need web design)
e tailored programs supplied and installed
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Use the following format:

Introduction - AdDirect- Techno Excela - Recommendations

Write at least 150 words.

R T e dreeaaes sesssssasensene
. sena R R R I I e Esas s s st st sassasstdsaaasnsssasnatassasansaasnsaRcesRasEREnS
-------------- seesan saen P S T R L R R e e I i i I R R
.................................................................................................. tessesaaan
B R R Gsessssanssassssssssanssaanas sasasstsssssasssessnasanse et ae e
................................................................... Sesbes s sesiass ettt asasssssaananssassana
........................... IR T T T T T T
................................................................................ feesesdiesasenssnsas s asnnan
................................ R e I R A
........................................................................ Heesessessssessias A aasesa s aaasaasn
............................................... I T I I I
T OO T T e T R R R I I
........................................................................................... sissasssssasatian
.............................................................. P T I I I
............................................................................................................
............................................................................................................
......................................................................... e I
................................................................................. B . cen
Prssanns R T OO T T T R
................................................................................................ frreesarnran
I R R I T I I seseraranenen Pesrassaranans ssssesssssrsssassanasnanass
sessesenns R T T P R RS R I I Fesessesssssasa s Ess e
..................................................................................... B .
e R srasan ) sesssssnss SesssssssasessstsEsas Nt Es TR REsER T At
............................................................................................................
............................................. R L T T T T T i R
....................................................................... SeEsessassesessa st taB Bt enann e B oS
tesseas R creassanana . R R e I e I R I I R I
................................................................................................... IR
.......................................... seramr e e sssssBisssssssassata sttt n NIRRT RN RN R RR RS
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............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................
............................................................................................................

............................................................................................................

............................................................................................................
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Year 1 Semester 11
SEMESTER END EXAMINATION

Mathematics for Business 11 - MATHO0379

e This paper consists of EIGHT questions on NINE (09) pages.

e Answer FIVE Questions including Question 0l

¢ Only non-programmable calculators are allowed.

You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.
e Write legibly

Date: 2022.00.18 Pass mark: 50% Time: 03 Hours

Question 01 (Compulsory)

. (a) Write the truth set of the given predicate P(x) = x + 7 < 12 where the domain is
the natural number set. (02 Marks)

(b) A biscuit company manufactures two types of biscuits, Star Snacks and Lemon
chips. The cost for one Star Snacks packet is Rs. 150 and cost for one Lemon chips
packet is Rs. 50. Market demand for both biscuits is at most 75 per week. If the
company wants to determine the best product mix by minimizing the cost of
manufacturing, determine the decision variables, and write the objective function.

(02 Marks)
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(c) Write the number of edges in a complete graph with 6 nodes. (02 Marks)

(d) Determine the step size (k) to find the integral ff x3+1 dx by applying
Trapezoidal Rule if the number of equal strips is 10. (02 Marks)

2
(e) Is differential equation, 2%;3’2- + 3% + 4y = 3e* homogenous? State reasons for

your answer. (02 Marks)

(f) Given that U = {1,2,3,4,5,6,7}, p = x is even and q = x is less than 4, find the truth
setsof pAgand ~pVq. (02 Marks)

(g) Which of the following 3 graphs are bipartite? State with reasons/ illustrations.

I

A B C
(02 Marks)
(h) Write the auxiliary equation of 6 Z—} + 8y =3x+4. (02 Marks)
(i) What it is meant by ‘feasible solution’ in a Linear Programming Problem. Explain
in your own words. (02 Marks)
() Calculate the definite integral [, x* + 3x — 2 dx. | (02 Marks)
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Question 02

(a) A firm produces three products. These products are processed on three
different machines. The time required to manufacture one unit of each of the

three products and the daily capacity of the three machines are given in the

Table 1 below:
Table 1
Production Time per unit (Minutes) Machine Capacity
Machine sk d
Product1 | Product2 | Product3 (minutes per day)
M, 2 4 2 460
M, 5 . 6 490
M, 3 4 i 420

It is required to determine the daily number of units to be manufactured for
each product. The profit per unit for product 1, 2 and 3 is Rs.4.00, Rs.5.00 and
Rs.6.00 respectively. It is assumed that all the amounts produced are consumed
in the market. Formulate the Linear Programming Model that will maximize

the daily profit. (Do not solve) (10 Marks)

(b) Consider the differential equation ZZT:: -6 Z—i— +8y = 0.
(i) Find the general solution of the differential equation. (06 Marks)
(ii) Find the particular solution when y(0) = —2 and y'(0) = 6. (04 Marks)
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Question 03

(a) Use Figure 1 to answer the questions below.

(i) Name the root and the number of leaves of the tree. (02 Marks)
(ii) Name the siblings of node B and G. (02 Marks)

(iii) What are the descendants of B and F? (02 Marks)

(iv) What are the levels of node E and N? (02Marks) @
(v) Write the height of the tree. (02 Marks)

(vi) Is this a complete binary tree? State reasons for your answer. (02 Marks)

(b) Construct a truth table for the given logical statement and comment whether it is
a tautology, contradiction, or neither.

pVv(@ATr)—=>(p@ATIVQq

(08 Marks)

Page 4 of 9




__——_---------
;

r-\ ~

CINEC

CAMPUS
Beyond A Gradugte

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

Question 04

(a) A company manufactures two products A and B. Both products are processed on

two machines M; & M,.

Table 2: Details about Machine hour utilization for each product

M 1 M 7.
A 6Hrs/ Unit 2Hrs/ Unit
B 4Hrs/Unit i
Maximum availability of machine
el 7200 Hrs/month 4000 Hrs/month
hours per month

Profit per unit for A is Rs. 100 and for B is Rs. 80. Company wants to know the

best monthly product mix to maximize the profit.

(i) Develop the LP Model for the given problem. (06 Marks)
(ii) Find out the monthly production of A and B to maximise profit by graphical
method. (08 Marks)

(b) Use the Trapezoidal rule to approximate the integral [ 01 f(x)dx where a table of

values for the function f(x) is given in Table 3. (06 Marks)
Table 3
% 0 0.25 0.5 0.75 1
f(x) 25 1.2 175 2.25 35
Page 5 of 9
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Question 05

(a) The diagram in Figure 2 shows the line y = x — 1 meeting the curve with equation

with equation y = (x — 1)(x — 5) at A and C. The curve meeting the x-axis at A

Ya .

and B.

y={— 1)x—3)

}4\/8 x

Figure 2

(i) Write down the coordinates of A and B and find the coordinates of .

(05 Marks)
(ii) Find the area of the shaded region bounded by the line, the curve and the
X-axis. (05 Marks) .
(b) Write the negations of the given statements.
(i) For any prime number x , the number x +1> 4. (02 Marks)
(i)  There exists an integer k such that 2k + 1 is even. (02 Marks)
(i) VxeMNx-7%5 (02 Marks)
(c) Write the truth table for the below logical statement. (04 Marks)
(~pAq) V (pA~q)
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Question 06
(a) Use the graphical method to solve the following LP problem. (12 Marks)
Maximize Z = 15x; + 10x;
. subject to
4x, + 6x; < 360
3x; < 180
S5x, < 200
x,%32 0

(b) Consider the given second order non-homogeneous differential equation with

constant coefficients.
d’y _dy 2t
Fromkrral e
(i) Write the auxiliary equation and find the complementary function. (03 Marks)
. (ii) Find the particular Integral. (04 Marks)
(iii) ~ Write the general solution to the differential equation. (01 Mark)
Question 07

(a) Use Figure 3 below to answer following questions.

Figure 3
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(i) Write two trails from A to F with two different lengths. Mention the length

of each trail. (04 Marks)
(i) ~ What is the difference between circuits and cycles? (02 Marks)
(iii) Name a cycle with length 6. (02 Marks)
(iv)  Isthe given graph complete? Give reasons to your answer. (03 Marks) .
(v)  Draw the complement graph of the given graph above. (03 Marks)

(b) The diagram in following figure (Figure 4) shows a sketch of part of the curve
with equation y = 9 — 3x — 5x? — x® and the line with equation y = 4 — 4x. The
line cuts the curve at the points A = (=1,8) and B = (1,0).

Find the area of the shaded region between AB and curve. (06 Marks)
VA
A

B >

0 x

/ y =4 — 4x
Figure 4
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Question 08

(a) A diet for a sick person must contain at least 4,000 units of vitamins, 50 units of
minerals and 1,400 calories. Two foods A and B are available at a cost of Rs. 4 and
Rs. 3 per unit, respectively. If one unit of A contains 200 units of vitamins, 1 unit of
mineral and 40 calories and one unit of food B contains 100 units of vitamins, 2 units
of minerals and 40 calories. Formulate this problem as an LP model to find

combination of foods to be used to have least cost? (Do not solve.) (10 Marks)

(b) Classify the given linear partial differential equations as elliptic, parabolic or

hyperbolic.

(i) 2Uyx+6Uy +4U;; —6U; =0 (02 Marks)

(i) 2Ly — 4Ly, — L, =0 (02 Marks)

(iii) Fex + F,y = 0 (02 Marks)
(c) Show that~(P - Q) = PA~Q. (04 Marks)

END OF THE QUESTION PAPER------=========--
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Year 1 Semester I1
SEMESTER END EXAMINATION
Macroeconomics - ECONO317

This paper consists of EIGHT questions on SIX (06) pages.

e Answer FIVE Questions including Question 0l

e  Only non-programmable calculators are allowed.

¢  You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

e  Write legibly

Date: 2022.09.15 Pass mark: 50% Time: 03 Hours

Question 01 (Compulsory)

Below is the ideas of Dr. W.A. Wijewardena given to a Newspaper regarding current

economic situation of the country.

“The current economic status of Sri Lanka is disastrous. From every front in the economy,
Sri Lanka has been hit. Economic growth is in the negative range. There is a drastic
reduction in food production due to the impractical organic farming policy implemented
by the former government. The Government budget is in danger with a huge reduction
in revenue, about 4% of GDP, ballooning of the budget deficit from 6% of GDP to over
12%, and the Government’s resort has been to borrow from the banking system - Rs. 3.7

trillion during the 27-month period from January 2020.
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The increase in the money stock, which people refer to as money printing, has been Rs. 4
trillion or 52%. As a result, inflation is galloping - now at 30%, according to official
sources, but at 151% according to inflation tracker Steve Hanke of Johns Hopkins

University.”

Critically analyze the current economic status of the country, especially focusing on major

macroeconomic variables. (20 marks)
Question 02

Fill in the blanks using most relevant economics terms.

a) The expenditure approach is the sum of all purchases in the categories of

consumption, , government expenses and net exports

on final goods and services for a given period.

b) is defined as the value of all final goods and services
produced in a country in a period of time, almost always one year.
c) Factor payments include for the use of labor services
for land, payments for the use
of capital goods, and for entrepreneurs, who put labor,
land, and capital together.
d) must be subtracted from gross domestic product to

get net national product.

e) The liquidity preference theory was introduced by

f) Transaction demand for money is not influenced by rate.
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g) The alternating periods of expansion and contraction in economic activities are

known as

h) When there is rise in the price due to excess of demand, it is termed as
Inflation.

i) The portion of bank deposits that a bank must keep on reserve are known as

j) Under expansionary monitory policy by open market operations, Central Bank

treasury bills in the secondary market in order to inject

liquidity to the market.
k) Under contractionary monitory policy by open market operations, Central Bank

treasury bills in the secondary market in order to reduce

liquidity in the market.
1) The of a country formulates and operates the monetary

policy.

m) The main objective of the monetary policy is economic growth with

n) and rates provide a lower

bound and upper bound respectively, to call rates.
o) Phillips curveis a  historical inverse  relationship = between
and in an economy.

(20 marks)
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Question 03
a) Using the given data calculate the GDP at market prices under output approach.
(all the values are in Rupees Bn.) (04 marks)
Value added in Services sector 1500
Value added in Industry 800
Value added in Agriculture 2700
Factor income receipts 200
Factor income payments 50
Indirect taxes 1000
Subsidies 500
Depreciation 20
Net exports 1000
Government expenses 200
b) What is the difference between open economy and closed economy? (02 mark)
c) Distinguish between final goods and intermediate goods. Why are intermediate
goods not included in gross domestic product of a country? (04 marks)
d) The circular flow model shows that firms and households are both buyers and
sellers simultaneously. How is this possible? (02 marks)
e) Use the simple circular flow model to show the circular flow income and explain
the equivalence between factor income flow, household expenditure flow and the
value of output flow. (08 marks)
Page 4 of 6
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Question 04

a) Define unemployment and explain how it is differs from underemployment.

(03 marks)

b) In an economy with a labour force of 27.3 million people and 3.1 million

unemployed people, what is the unemployment rate? (02 marks)

c) Explain why unemployment figures are not usually accurate. (05 marks)

d) Explain the social and economic consequences of unemployment. (10 marks)
Question 05

a) What are the instruments of monetary policy? Explain the role of changes in
statutory rate ratio and open market operations in controlling inflation.
(10 marks)

b) Inflation results in redistribution of purchasing power. Explain who is likely to
gain and who is likely to lose from the redistribution effects of inflation.

(06 marks)
c) What are the negative consequences of inflation other than redistribution?
(04 marks)
Question 06
a) Dislinguish between Microeconomics and Macroeconomics. (05 marks)
b) Following information are provided for a 4-sector economy. Values are indicated
in Rs. Millions.
Consumption= 60+0.9Yd
Investment=10
Government expenditure=10
Tax=0
Page 5 of 6
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Exports=20
Imports=10+0.05Y

i.  Calculate the equilibrium income.
ii.  Calculate the trade balance (X-M).
iii. How much is the savings?
iv.  How much is the imports?

Question 07

00023 I

(08 marks)
(02 marks)
(03 marks)
(02 marks)

Explain whether you accept with the statement that "government should intervene less

aggressively as countries grow and develop and more strongly in countries that are

relatively lower level of economic growth."

Question 08

(20 marks)

Select any four and write short notes. (04*05 marks=20 marks)

a) Philips curve

b) Say’s Law

c) Currency Board System

d) Interestrate corridor

e) Liquidity Preference Theory
f) Business Cycles

END OF THE QUESTION PAPER--------nnnneeenm
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Year 1 Semester II
SEMESTER END EXAMINATION
Business Statistics - STAT0367
e  This paper consists of EIGHT (08) questions on TWELVE (12) pages.
e Answer FIVE (05) questions including question Ol
e Only Non-programmable calculators are allowed.
e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.
e If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.
e  Write legibly.
e Areas under Standard Normal Curve are attached.

Date: 2022.09.13 Pass mark: 50% Time; 03 Hours

Question 01 (Compulsory)
Select the most suitable answer for the following MCQ questions

1. Which of the following statements are true?
. a. Categorization of social classes as upper class, middle class and lower
class is an example for nominal scale
b. The main difference between ordinal scale and interval scales is that the
interval scale uses unit of measurements
c. The class interval in a frequency distribution is an example for interval
scale.
A. a.only
B. b.only
C. c.only
D. a.and b. only
E. a,b.andc.
2. fresh milk packet is old at the prices of LKR 60, LKR 100, LKR 120 and LKR
150per liter in four consecutive different months respectively. If a family spent
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LKR 600 on milk per month in the four months, find the average price (LKR) per
liter of fresh milk for the family per month.

A. LKR 96

B. LKR 107.50

C. LKR 102

D. LKR 120

E. LKR 150

. Geometric mean of 10 observations on a certain variable is calculated as 15.7.

later it was found that the observed value 21 had been taken as 12 in calculation.
What is the corrected geometric mean value?
A. 15.7(1.75)
B. 15.7(0.57)
C. 15.7(0.57)1/10
D. 15.7(1.75)1/10
E. (15.7)*(1.75)0
. V(X) of variable is X is 7. What is the variance of 3X
7
21
63
3
147
. In a group there are 3 boys and 2 girls. If 3 are selected at random from this
group, find the probability that there are 2 boys and 1 girl and 1 boy and 2 girls.
A. 1/5
B. 3/10
%
D. 3/5
E. 9/10
. Suppose A and B are two independent events. The probability that both A and B
occur is 1/8 and the probability that neither of them occur 3/8. If P(A) > P(B),
what is the value P(A)?
A. 3/8
B. 12
& 108

S e W ope
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D. %
E. %
7. Suppose that A and B are any two events. P(ANB) = P(ANB’) = P(A'NB) = k. what
is the probability that at least one event occurs from the events A and B?

A. 3k

B. 2k

= E

D. 3k?

E. %

Question no 8,9 and 10 are based on the following description.

A student sit for a test consists of 10 multiple choice questions with 5 answers to each
question. Only one correct answer is there. The student answers each question by
selecting one answer randomly as the correct answer. To pass the exam the student
needs to get 60% correct answers.

8. What is the suitable probability distribution to model the number of correct
answers provided by the student?
A. Poisson Distribution
B. Hypergeometric Distribution
C. Binomial Distribution
D. Negative Binomial Distribution
E. Geometric distribution
9. What is the probability that student pass the exam
A. 0.0544
B. 0.0328
C. 0.0064
D. 0.9991
E. 0.9936
10. What is the probability that student get less than 40 marks?
A. 0.9936
B. 0.8863
C. 0.8598
D. 0.8791

Page 3 of 12
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E. 0.9672

11. The scale applied in statistics which imparts a difference of magnitude and
proportions is considered as;

A. Ordinal Scale

B. Nominal Scale
C. Interval Scale

D. Ratio Scale

E. Exponential Scale

12. The mean of an examination is 69, the median is 68, the mode is 67, and the
standard deviation is 3. The measures of variation for this examination is:
A 3
B. 68
C. 67
D. 69
E 9
13. Which of the following is not an example of a discrete probability distribution?
A. The sale price of a house
B. The number of bedrooms in a house
C. Number of children in a family
D. Numbers of members in a household
E. Number of bathrooms in a house
14. Which of the following is not a correct statement about a probability.
It must have a value between 0 and 1
It can be reported as a decimal or a fraction
A value near 0 means that the event is not likely to occur /happens
It is the collection of several experiments
Probability of a particular event can be 1.

Mo Nw

15. In a Poisson probability distribution
A. The mean and standard deviation of the distribution are the same (equal)

Page 4 of 12
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B. The mean and variance of the distribution are the same (equal)
C. The probability of success is always greater than 5
D. The number of trials is always less than 5
E. Italways contains a contingency table
16. Consider the boxplot below.

TTT T I I T 71T

2 4 6 8 10 12 14 16 18

Which of the following statements are true?

I. The distribution is skewed left.
II. The interquartile range is about 8.
III. The median is about 10.

A. Tonly

B. Il only
C. Il only
D. Iand II
E. Iland III

17. A simple random sample consists of four observations: {1, 3, 5, 7}. Based on these
sample observations, what is the best estimate of the standard deviation of the

population?

Mo
(@)
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18. A population consists of four observations: {1, 3, 5, 7}. What is the variance?
2

MY 0w P
@ O U1 W=

L---_

19. If E(X) = 2, what is the value of E(3X +2)

MO0
Ul = O 0O N

20. If V(X) = 3, what is the value of V(3X + 2)?
A 11
B: 9
. 29
i
E. 20

(20 Marks)

Question 02

(a) State whether the following statements are true or false and explain your answer.
(12 Marks)
(i) Classification of students by their graduating class, First class, Second
upper, second lower and General pass is an example for interval scale.
(ii) Qualitative variables can be categorized under interval scale
(iti) Arithmatic operations like division and multiplication are not valid for
Interval scale variables.
(b) State the most appropriate data collection method/s for each of the following
studies. Describe how each method is applied giving one advantage and one
disadvantage. (04 Marks)
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(i) Study the efficiency of cashiers of a supermarket chain in carrying out of
their functions
(ii) Explore various aspects of the issue of domestic violence by conducting
discussions with experts in the field and victims.
(c) Identify the variable type and the measurement scale of the following variables.

(04 Marks)
(d)
(i) No of members in a family
(ii) Payment methods used by a student (Cash, Card and Cheque)
(iii) Gross monthly income of a family.
(iv) Graduating class of a student
Question 03

The number of laptops sold by a store was recorded each month for a period of 26
months. Results are shown in the stem and leaf diagram given below.

Stem Leaf

8

3

d

gon| O

A

7
6
5
7

O U1\
N
Qo
0

12 7

KEY: 1|8 means 18 laptops sold

Find,

(@) the mean

(b) median

(c) mode

(d) first quartile

(e) third quartile

(f) range

(g) Interquartile rage
(h) Coefficient of range
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(i) standard deviation

(j) Coefficient of variation
(20 Marks)

Question 04

(a) State which of the following can be modelled with a Binomial Distribution and
which cannot. Give reasons for your answers. (09 Marks)
(i) Given that15% of people have blood that is Rhesus negative (Rh-), model
the number of undergraduates in a class of 14 who are Rh-
(ii) Keep tossing a fair coin until obtain 4 head in succession. Model the
number of tosses needed.
(iii) A certain car manufacturer produces 12%of new cars in the colour red,
8% in blue, 15% in white and the rest in other colours. You make a note of
the colours of the first 15 new cars of this brand. Model the number of red
cars you observe.
(b) A factory produces a component and manufacturer claims that the 5% of the
components are defective. A quality control officer regularly inspects a random
sample of 50 components. Find the probability that the next sample of size 50

contains,
(i) Fewer than 2 defectives (03 Marks)
(ii) More than 5 defectives (04 Marks)

The officer will stop production if the number of defectives in the sample is
greater than 2 defectives.
(iii) Find the probability of stop production. (04 Marks)

Question 05

(a) State which of the following could e modelled by a Poisson distribution, and
which can not. Justify your answer. (06 Marks)
(i) Number of accidents per week at a certain road.
(ii) The number of marathon runners passing the finishing post between 20
and 21 minutes after the winner of the race.
(iii) The amount of salt (in mg) contained 1cm? of water taken from a bucket
immediately after a teaspoon of salt was added to the bucket.

Page 8 of 12
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(b) A biologist is studying the behaviour of sheep in a large field. The field is
divided into number of equally sized squares and average number of sheep per
square is 2.5. The sheep is randomly scattered throughout the field.

(i) Suggest a suitable to model the number of sheep in a square.

(01 Marks)

(ii) Write the parameter/s of the identified distribution (01 Marks)
(iif) Calculate the probability that, randomly selected square contains more
than 3 sheep. (04 Marks)
(iv) Calculate the probability that, randomly selected square contains fewer
than 5 sheep. (04 Marks)

(v) If a sheep dog has been sent into the field to round up the sheep. Explain

why the distribution suggest part (a) is no longer be applicable.
(04 Marks)

Question 06

Boxes of chocolates are produced with a mean weight 510g. quality control officer
claims that 1% of boxes are rejected because their weight is less than 485g.

(a) Find the standard deviation of the weight of a box of chocolates. (10 Marks)

. (b) Using the above standard deviation value calculated above find the probability
that, (10 Marks)
(i) Boxes that weight more than 525g
(i) Boxes that weight in between 485g and 525g.

Question 07

(a) A and B are two events. P(A) = 0.6, P(B) = 0.7, and P(AUB) = 0.9
(i) Find P(ANB)
(i) P(A")
(iii) P(A"UB)
(iv) P(A'NB)
(08 Marks)
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(b) Pet We Care is a animal hospital survey 100 of their clients. Results are given
below.
e 25owndogs
e 15 own dogs and cats
e 11 own dogs and tropical fish
e 53 own cats
e 10 own cats and tropical fish
e 7own dogs, cats and tropical fish
e 40 own tropical fish

a client is chosen at random,
(i) Draw a Venn diagram to represent the above information.
find the probability that the client,

(if) Own dogs only
(iii) Does not own tropical fish
(iv) Does not own dogs, cats or tropical fish.

(08 Marks)
(c) A and B are two events such that P(A) = 0.6, P(B) = 0.5, P(ANB) = 0.4, find,
(i) P(AUB)
(ii) P(B| A)
(iii) P(A| B)
(iv) P(A|B")
(04 Marks)
Question 08

(a) For each of the following situations, suggest the most suitable Data source for the
study. If suggested method is the Secondary Data Source, Identify the author of
the suggested secondary data source. (10 Marks)

(i) A Researcher is interested in forecasting the Import, Export and
Transshipment container throughput of the Colombo Port.

Page 10 of 12
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(ii) A researcher is interested in factors influenced in undergraduate students
to select their subject stream

(iii) A researcher is interested in studying Labour Force of Sri Lanka

(iv) A researcher is interested in studying road accidents of Sri Lanka

(v) A medical practitioner is interested in studying Chronic Kidney Disease in
North Central Province in Sri Lanka.

(b) In each of the following situations, explain what graphical display you would
use to present the information most appropriately. Do a sketch of the display
highlighting the important aspects that should be considered in those graphs.

(i) Student Coordinator of the Faculty of Management at CINEC Campus
should present the number of students recruited for the Logistics
Degree programme for the period of 2012 to 2022. (02 Marks)

(ii) Student Coordinator of the Faculty of Management at CINEC Campus
needs to present, the number of male and female students eligible for
the undergraduate programme from each of the streams: Mathematics,
Bio-Sciences, Commerce and Arts. (04 Marks)

(iii) Course Coordinator of the Faculty of Management at CINEC
Campus needs to compare marks obtained by first year undergraduate
students for Mathematics and Business English modules.

eeeeeeeeeeeeeee-END OF THE QUESTION PAPER-=n=nnnnzn=n=n==-
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-1.55
-1.50

-1.40
-1.35
-1.30
-1.25
-1.20
-1.15
-1.10
-1.05

P

0.00003
0.00023
0.0014
0.0016
0.0019
0.0022
0.0026
0.0030
0.0035
0.0040
0.0047

. 0.0054

0.0062
0.0071
0.0082
0.0094

0.0107 ~

0.0122
0.0139
0.0158
0.0179
0.0202
0.0228
0.0256
0.0287
0.0322
0.0359
0.0401
0.0446
0.0495
0.0548
0.0606
0.0668
0.0735
0.0808
0.0885
0.0968
0.1056
0.1151
0.1251
0.1357
0.1469

Z

-1.00
-0.95
-0.90
-0.85
-0.80
-0.75
-0.70
-0.65
-0.A0
0.5
-0.50
-0.45
-0.40
-0.35
-0.30
-0.25
-0.20
-0.15
-0.10

-0.05 .

0.00
0.05
0.10
0.1>
0.20
0.25
0.30
0.35
0.40
0.45
0.50
0.55
0.60
0.65
0.70
0.75
0.80
0.85

0.95
1.00

The Standardised Normal Distribution Table

The distribution tabulated is that of the normal
distribution with mean zero and standard deviation

1. For each value of Z, the standardized normal

deviate, (the proportion P, of the distribution less
than Z) is given. For a normal distribution with
mean x4 and variance o’ the proportion of the
distribution less than some particular value X is
obtained by calculating Z = (X - u )/ ¢ and reading
the proportion corresponding to this value of Z.

P z &
0.1587 1.05 0.8531
0.1711 1.10 0.8643
0.1841 1.15 0.8749
0.1977 1.20 0.8849
0.2119 1.25 0.8944
0.2266 1.30 0.9032
0.2420 138 0.9115
0.2578 1.40 0.9192
0.2743 1.45 0.9265
u.zy12 1.50 0.9332
03085 1.55  0.93%4
0.3264 1.60 0.9452
0.3446 1.65 0.9505
0.3632 1.70 0.9554
0.3821 1.75 0.9599
04013 1.80 0.9641
0.4207 1.85 0.9678
0.4404 1.90 0.9713
0.4602 1.95 0.9744
0.4801 2.00 0.9772
0.5000 2.05 0.9798
0.5199 # 2.10 0.9821
0.5398 2.13 0.9842
0,5596 2.20 0.9861
0.5793 2.25 0.9878
0.5987 2.30 0.9893
0.6179 2.35 0.9906
0.6368 2.40 0.9918
0.6554 2.45 0.9929
0.6736 2.50 0.9938
0.6915 255 0.9946
0.7088 2.60 0.9953
0.7257 2.65 0.9960
0.7422 2,70 0.9965
0.7580 . 2.75 0.9970
0.7734 2.80 0.9974
0.7881 2.85 0.9978
0.8023 2.90 0.9981

" 0.8159 2.95 0.9984
0.8289 3.00 0.9986 !
0.8413 3.50 0.99977

400  0.99997
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This paper consists of EIGHT questions on EIGHT (08) pages.
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e Write Legibly.
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Question 01 (Compulsory)

For the questions 1-10 choose the correct answer. (2 Marks each)

1. Choose the correct statement.
(a)3+2i€R
5
(b) 3 € Z
(c)3e+2€C

(dV2+V3 e R
(&) -1 &H

2. What can you say about the nature of the roots of 4x* — 2x + 3 = 0?
(a) It has two distinct real roots.

(b) It has one repeated root.
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(c) It has no roots.
(d) It has no real roots.

(e) It has three roots.

3. The solution set of |5x — 2| < 18 is,
(@) —T<x<4
16 16
(b) - R
(c) -4<x<4
(d)-FT<x<4

(e) —4<x<4

4. Choose the correct expression.
1
(a) log; n=
(b) 10g100.01 =2
(c) logy 64 =3

(d)In(Ve) =8
(e) 2In(e®) =6
5. Let f(x) = e*In (E) Then f'(x) is,
(a) In (%) s i
®) e [+ Q)
@ e[+ ()

00008
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(d) e*[=+n (g)]

(e) None of the above.

3x5yt e ; i
: (——-) can be simplified to get

xOy—S

(a) 9x25 18 (b) 9410 (C) 3x10 36 (d) 9x25y36 (e) gxlo 14
lim3 ———-——-“mf’ gives an indeterminate form when direct substitution is used.
Eo=

Which of the following answers states the next step that you can apply and the
limit value after applying that step?

a) Factorization and cancellation, 2

b) Rationalization using conjugates, %2

c) Alternate forms of trigonometric functions, 4

d) Rationalization using conjugates, -2

e) Factorization and cancellation, 2

1 Letf(x) = x5 — 3x3 4+ 2x%? — 2x — 1. Find f'(x).

(a) +— %—x —@ 4L

(b) 12x3 + 18x% + 8x — 2

(c) -—+3L+——x ~%+C

(d) 5x* —9x% +4x — 2
(e) None of the above
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9. Letf(x) =2x —3and g(x) =2x%2. lf h = f o g then h(1)is,

@ -2 (b) 2 (© 1 (d) -1 (e) 3
. 4 o 8 i_ 1
10. Determine the domain of g(x) = x° + =
() x€R\{0,7)
(b) 7<sx<w
() 7<x<»
(d)0=sx<ow
(e) None of the above
(20 Marks)
Question 02
6 4 -3
(@) LetA=(2 5 1).
-2 0 9
Show that 4 + AT is a symmetric matrix. (06 Marks)

(b)  Write following logarithmic equations as exponential equations.
(i loga9=2

(i) log,8=3
(04 Marks)
(c) Find x in log, x = 2. (03 Marks)
2 =4 1
(d) Giventhat{2 0 -—1|=x? findx.
1 4 3

Hint: Start by calculating the determinant of given matrix. (07 Marks)
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Question 03
_(3 -5 _(-3 1 1 g7 .
(a) LetA = (_ 4 1 ) and B = ( 0 4 0). Calculate A - B if possible.(05 Marks)
o~ (b) Evaluate [ : . %dx, giving your answer in the form a + by/3, where a and b are
integers. (05 Marks)
(c) Solve the differential equation i% = xe?, (05 Marks)
(d) Calculate lim x3 4+ 2x%2—3x +5. (05 Marks)
— o
Question 04
(a) Evaluate [ x* Inx dx using integration by parts. (06 Marks)
~ 5 4 -1 2 1 2
) (b)LetA=(2 1 2| andB=[5 4 —1) i
6 -3 1 12 -6 2 ;
(i) Giventhat24A+ C = B, find C. (03 Marks)
(i) Find A% (03 Marks)
(iii) Calculate |A|. (03 Marks)
(iv) Hence determine the |B| without calculations and give reasons for your
answer. (02 Marks)
(v) Use necessary calculations to prove the answer obtained in (iv).
(03 Marks)
Page 5 of 8
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Question 05

(@) Let f(x)=3x?+5x—2.
(i) Determine the nature of roots using the discriminant of f(x). (02 Marks)

(ii) Determine the roots of f(x) by factorizing or using any other method.

(02 Marks)
(iii) Find the coordinates of the points where the graph of f intersects the x-axis.
(02 Marks)
(iv) Find the y-intercept of the graph of f. (02 Marks)
(v) Find the coordinates of the vertex. (03 Marks)
(vi) Sketch the graph of f(x) using the results you obtained in (b), (c), (d) and (e).
(03 Marks)
(vii) Determine the domain and the range of f(x), using the graph obtained in (f).
(02 Marks)
(viii) Explain two methods to determine the solution set of 3x? 4+ 5x — 2 < 0.
(04 Marks)
Question 06
(a) Solve the given system using Cramer’s Rule. (12 Marks)
SE+j—z=3
x4y +e=1
x—2y-3z=4
(b) Let f(x) = ;f—;v,_j—f-g g(x) = 5x2 — 9, h(x) = 4x3 + 2x
Page 6 of 8
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(i) Show that when lm; f(x) gives an indeterminate form when direct

substitution is used.

(ii) Evaluate chm% f (x) by writing an equivalent form of f(x).

(iii) Evaluate lim2 g(x) - h(x).
X——

Question 07

(02 Marks)
(03 Marks)

(03 Marks)

(a) Given that A is a constant and _]'14(6\/97 — A)dx = A? show that there are two

possible values for A and find these values.

(06 Marks)

(b) Given A = {2,4,6,8,10,12,14} and B = {4, 8,12}. Using necessary calculations,

show that following statements are true.
(i) P(B) has 8 elements.

(i) BcA

(iii)y AuB=A4

(ivy. AnB=B

4 x+2

(c) FindxandB,ifB=(2x_3 e

is symmetric.

(03 Marks)
(03 Marks)
(02 Marks)
(02 Marks)

(04 Marks)
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Question 08

(a) Find [°, f(x) dx if [, * f(x) dx = =2 and [} f(x) dx = 5. (03 Marks)

(b) Given that p(x) = e?* and q(x) = 3In(5x)

(i) Obtain r(x) = p(x) + q(x). (03 Marks)
(ii) Find r'(x). (03 Marks)
(iii) Show thatr"(x) = 4e% — =. (02 Marks)
(iv) Evaluate :—x (p(x) - q(x)). (03 Marks)

(c)  Solve 4(2x — 6) + 4x < 2 and display the solution set in a real number line.

(06 Marks)
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e This paper consists of EIGHT questions on FOUR (04) pages.

e Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.
If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e  Write legibly

Date: 2022.06.12 Pass mark: 50% Time: 03 Hours

Question 01 (Compulsory)

. “The main purpose of transportation is to overcome space”.

(a) Explain in your own words how geography poses a significant threat to the
transportation? (06 Marks)

(b) Mention and explain the three major constraints of space that transportation has
to overcome. (06 Marks)

(c) Describe with an example in the modern day, how the transportation has

overcome physical environment with technology.
(08 Marks)
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Question 02

(a) Distinguish between relative and absolute barriers with examples.
(06 Marks)
(b) Mention and explain the two major processes that intensify global interactions
together with transport. (08 Marks)

(c) Mention and briefly explain three key elements in a transportation network.
(06 Marks)

Question 03

“Unit Delivery” is a newly formulated parcel delivery company and they aim to deliver
parcels to any part of the world within a time frame of 24 hours. However, the owner of
Unit Delivery company doesn’t have a clear idea about the types of transport network
structures.

(a) As a student learning Transport Geography module, mention and explain the

most suitable network structure for the above scenario by highlighting the
benefits of using the mentioned network structure. (10 Marks)

(b) Mention and explain the two major dimensions that spatial organization relies

on. (04 Marks)
(c) Name three transportations infrastructure and the constraints that they possess.
(06 Marks)
Page 2 of 4
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Question 04
a) What's the centrality and intermediacy function of a transportation terminal?
(04 Marks)
b) What're the major attributes linked with the performance of a transportations
terminal?
(04 Marks)
c¢) What's an inland port?
(04 Marks)
d) Explain the type of intermodal terminals.
(08 Marks)
Question 05
(a) Explain two locational influence of transportation (06 Marks)
(b) What are the global scales of spatial organization for Transportation?
(06 Marks)
(c) What are the 4 major elements that define a port site? Explain
(08 Marks)

Question 06

(a) “Containerized transportation substantially changed port dynamics”. Explain in
your own words. (05 Marks)
(b) Distinguish between Monofunctional and Polyfunctional terminals. (06 Marks)

(c) Briefly explain the factors that impact the airport traffic. (09 Marks)

Page 3 of 4




00002

CINEC

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

Question 07
a) What's urbanization? What are the three major demographic trends that drives
urbanization? (05 Marks)
b) Explain the vicious cycle of congestion. (06 Marks)
c) Explain how the two concepts called “Urban Sprawl” and “Transportation” are
related to each other. (06 Marks)
d) Name three major issues in urban transportation. (03 Marks)
Question 08
Write short notes on the below topics. (04 * 05 Marks)

(a) Congestion.

(b) Pendulum movements.
(c) City Logistics.

(d) Manufacturing districts

END OF THE QUESTION PAPER
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® This paper consists of EIGHT questions on SIX (06) pages.

¢ Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

¢ You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

* If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

¢ Write legibly

Date: 2022.06.11 Pass mark: 50% Time: 03 Hours
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Question 01

The paragraph below was extracted from the CNN news, which explains the current

economic situation of Sri Lanka.

“Experts say the crisis of Sri Lanka has been years in the making, driven by a little bad
luck and a lot of government mismanagement. Over the past decade, the Sri Lankan
government has borrowed vast sums of money from foreign lenders to fund public
services. This borrowing has coincided with a series of disappointments to the Sri
Lankan economy, from both natural disasters -- such as heavy monsoons -- to man-

made catastrophes, including a government ban on chemical fertilizers that

decimated farmers' harvests.”

a) According to the above paragraph, analyze the current economic situation of the

country. (Total marks 20)
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Question 02

Fill in the blanks

a)

b)

h)

The fact that money can be immediately used in exchange, whereas valuable

jewelry cannot, illustrates the fact that money is very

The measure of the money supply that includes currency of commercial bank
and public, deposits with the Central Bank and deposits of other institutions
with the Central Bank is called

The portion of bank deposits that a bank must keep on reserve are known as

The portion of bank reserves that banks are permitted to lend or invest are

known as

The rate at which the Central Bank provides credit to commercial
banks

and rates provide a lower

bound and upper bound respectively, to call rates.
Under expansionary monitory policy by open market operations, Central Bank
treasury bills in the the secondary market in order to

inject liquidity to the market.
Under contractionary monitory policy by open market operations, Central

Bank treasury bills in the secondary market in order

to reduce liquidity in the market.

Page 2 of 6
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i) The theory that assumes that the velocity of money is constant in the equation

MxV=PxY isthe

j) The three motives to hold money are ;

k) The two primary functions of a commercial bank are

1) Inacommercial bank balance sheet the bank'’s are its

sources of funds and are its uses of funds.

m) At the start of the twenty-first century, Zimbabwe experienced
inflation so that economists had difficulty measuring

it.
n) Phillips curveis a  historical inverse  relationship  between
and in an economy.

(Total Marks 20)

Question 03

a) Assume a closed economy with government which suffers from the lack of
business confidence. As a result, private investment does not rise, nor does it
respond to the changes in interest rate. The government keeps spending to
compensate for lack of private spending. But after a change in government
business confidence was restored, private investment begins to rise and
becomes highly sensitive to changes in interest rate. Analyze the economic
impact of this change. If this change is accompanied by a monetary expansion,

then how does your answer change? (10 marks)
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b) Central Bank of Sri Lanka is using different types of instruments under its
monetary management as quantitative and qualitative credit controls. What
are they? Explain. (10 marks)
(Total Marks 20)

Question 04

a) A set of macroeconomic data relating to a hypothetical economy is set out
below (values are in Rs. Billion)

Salaries and wages 300
Personal income tax 270
Interest income 100
Government transfer payments 250
Corporate profit taxes 20
Undistributed company profit 10

Net income earned from self-employment 30

Net foreign primary income earnings 30

i.  Calculate the National Income (04 marks)
ii.  Calculate the Disposable Household Income (04 marks)

b) List down the three approaches to measuring national income. (02 marks)
c) Distinguish between Macroeconomics and Microeconomics (10 Marks)

(Total Marks 20)
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Question 05

Following information are provided for a 3-sector economy. Values are indicated

in Rs. Millions.
C =1200+0.75yd

® T = 400+0.2y
I = 2500

G =1600
a) Calculate equilibrium income (value of output) of the economy algebraically.
(08 marks)
b) The function C=C0+ CiY is used to calculate the amount of total consumption
in an economy. Where C is consumption expenditure and Y is national income.
i.  Whatis Co and Ci? (02 marks)

c) Briefly explain
k Net National Product (NNP)
. ii. Gross Domestic Product (GDP) (02 marks)

d) The income-consumption schedule of a hypothetical economy has given as

below.
National Income (Rs. Million) Consumption (Rs. Million)
200 160
300 230

i.  Derive the consumption function of this economy
ii.  Derive the savings function of this economy (08 marks)

(Total Marks 20)
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Question 06

a) Using graphs explain demand pull and cost push inflation. (10 marks)

b) Discuss the two types of disequilibrium unemployment. Use diagrams in your

answers. (10 marks) .

(Total Marks 20)
Question 07

a) Explain how changes in Statutory Reserve Requirement (SRR) is controlling

money supply of an economy. Explain using an example. (05 marks)
b) Explain the sources and uses of a commercial bank. (05 marks)
c) What is the role of a Commercial Bank in the Economic Development of a
Country? (10 marks)
(Total Marks 20)
Question 08
Select any four and write short notes. (5 marks per each)

i Monetary policy and Fiscal policy.
ii. Interest rate corridor
iii.  Credit creation by commercial banks.
iv.  Functions of the Central Bank of Sri Lanka
V. Open Market Operations
vi.  Liquidity Preference Theory
(Total Marks 20)

................... END OF THE QUESTION PAPER
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This paper consists of EIGHT questions on THREE (03) pages.

Answer FIVE Questions including Question 0L

Only non-programmable calculators are allowed.

You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.
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Question 01: (Compulsory)

The factors and forces outside the organization that affect the organization performance
are called external environmental forces. List five factors/ forces in the external
environment. Explain how three of the listed factors/ forces impact a business using

examples. (20 Marks)
Question 02

a) Define the term planning in management. (05 Marks)
b) “Well-stated objectives are SMART”. State an example. (05 Marks)
¢) Explain why organization need to change using examples. (10Marks)
Question 03

a) Describe two types of corporate strategies using examples. (08 Marks)
b) Explain three of following terms.

I Authority

II.  Responsibility
I Unity of command
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IV.  Span of control

(12 Marks)
Question 04

Write short notes on any four (4) of the following topics.
a) Kurt Lewin’s Leadership Styles .

b) Blake Mouton Managerial (Leadership) Grid

¢) Hersey and Blanchard’s Situational Leadership Theory
d) Goal-setting theory

e) Herzberg's Two-Factor Theory

f) Maslow’s hierarchy of needs

(20 Marks)
Question 05
a) Explain the nature and importance of control. (08 Marks)
b) Describe the three steps in the control process. (12 Marks)
Question 06 ()

a) List three essential skills of a manager and explain one out of them. (04 Marks)
b) Explain the two types of problems and decisions that a manager might face.

(16 Marks)
Question 07
a) Explain the importance of Human Resource Management (HRM) for an organization.
(10 Marks)
b) Through HR planning, organizations avoid sudden people shortages and surpluses.
Explain two main components (Steps) of HR planning. (10 Marks)
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Question 08
a) Discuss two main factors that affect group performance and satisfaction using
examples. (08 Marks)
b) Explain how communication can flow most effectively in organizations.
(12 Marks)
- END OF THE QUESTION PAPER
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e This paper consists of EIGHT (08) questions on TWELVE (12) pages.
e Answer FIVE (05) questions including question Ol.
e Only Non-programmable calculators are allowed.
* You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.
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Date: 2020.09.28 Pass mark: 50% Time: 03 Hours
Question 01 - Compulsory
Underline the correct answer and attached question paper to the Answer Book

(20 Marks)

1) Dermatologist is checked the effectiveness of his acne control cream by
recommending the cream for 10 patients. If acne cream is effective for nine or
more than 09 patients, he will recommend this treatment for his patient who are
coming to tear acnes. Lets X is the number of patients who comments that acne
cream is effective. What is the distribution of the random variable X?

A.  Uniform distribution

B. Binomial distribution

6 Poisson distribution

D. Negative Binomial Distribution

2) Which of the following statements are true?

L Categorical variables are the same as qualitative variables.
II. Quantitative variables cannot be discrete.
III.  Quantitative variables can be continuous variables.

Page 1 of 12
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A. 10nly

B. IIOnly

C. III Only

D. Iand III

E. Tand II
When a uni-modal distribution is symmetric, the highest point if the curve is
called the

A. Mean
B. Median
¢ Mode

D. All of the above
The sum of the deviations taken from Arithmetic Mean is

A. 1
B. m
48 Zero
D. n
The possible outcome of an experiment is called the,
A. Random experiment
B. Event
C.  Sample space
D. Subset

A measure computed from sample data is called
A.  Statistics

B. Statistic
C. Data
B Parameter

When all the values in a series occur the same number of times, then it is not
possible to compute the.............

A. Mean

B. Median

C. Standard Deviation
D. Mode

Four friends take an IQ test. Their scores are 96, 100, 106, 114. Which of the
following statements is true?
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The mean is 103.
The mean is 104.
The median is 100.
The median is 106.
A. Tonly

B. I only

C. Il only

D. IV only

E. IIand III

9) Third quartile is also called

A.

B
.
D

25th Percentile
2nd decile
75th percentile
3rd decile

10) The quantity which computed from a population when entire population is

available is called
A. Parameter
B. Statistic
C Variable
D Constant

11) Which of the following statements are true?
I.  The mean of a population is denoted by x.
I.  Sample size is never bigger than population size.
ITII.  The population mean is a statistic.

A. Tonly.

B. Il only.

C. Il only.

D. All of the above.
E. IIand III
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12) A coin is tossed three times. What is the probability that it lands on heads exactly
one time?
A. 0125
B. 0.250
C. 0.375
D. 0.500

13) Data in the population census report is called
A.  Primary data
B. Secondary data
C.  Ungrouped data
D. Data array.

Question no 14-16 are based on the following description.

Four married couples have bought 08 seats in the same row for a cinema. In how many
different ways can they be seated;

14) In how many different ways can they be seated with no restrictions

A. 8!

B. 41*2
bl 2*4
D. 8C2

15) In how many different ways can they be seated if each couple is to sit together
A, 2I*4*4*4%4
B. L A
C. 41*8
i) 4!*8!
16) In how many different ways can they be seated if all men sit together to the right
of all the women

A. 4*4

B. 414
C. 414!
I 48
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17) An bag contains 6 red marbles and 4 black marbles. Two marbles are drawn with
replacement from the bag.
What is the probability that both of the marbles are black?
A. 0.16
B. 0.32
C. 0.36
D. 0.40

18) Which of the following is a discrete random variable?
I. The average weight of a randomly selected group of boys.
1. The number of students registered at CINEC in 2018
I1I. Space available in the Dean’s office in square meters
A. Tonly
B. Il only
C. Il only
D. Iand II

19) Nuwan earned a score of 940 on a national IQ test. The mean test score was 850
with a standard deviation of 100. What proportion of students had a higher score
than Amal? (Assume that test scores are normally distributed.)

A. 0.10
B. 0.81
C. 018
D. 0.82

20) Consider the boxplot below.

1 i 1 i T I T

[} i
2 -+ 6 8 10 12 14 16 18

Which of the following statements are true?
I. The distribution is skewed left.

II. The interquartile range is about 8.

III. The median is about 10.

A. Tonly
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B. Il only
C. Iand Il
D. Il and III

Question 02 and Question 03 are based on the below description.

Faculty of Management is interested in analyzing the students’ satisfaction level of
delivery of online lectures via LMS during the COVID-19 lockdown period.

Research team identified core variables for the study listed below

¢ Quality of LMS

¢ Quality of the course materials

e Quality of the Support Services in dealing with LMS
e Quality of the Internet Connection

e Students’ satisfaction

Research team is decided to collect data using 5-point Likert scale for all the variables
listed above.

Question 02

(@) Write TWO demographic variables useful for the above analysis

(02 Marks)
(b) Write THREE questions to the questionnaire in order to measure the Quality of
Course Materials uploaded to the LMS (09 Marks)

(c) Suggest a suitable data collection method for the above study. Note that final
report of the study has to be handed over to the Manager Administration, on or

before 30t October 2020. (05 Marks)
(d) What are the challenges in the above suggested data collection method.
(04 Marks)
Page 6 of 12



00036

Colombo International Nautical and Engineering College
CINEC Campus
Faculty of Management, Humanities and Social Sciences
Department of Logistics & Transport

BSc in International Transportation Management and Logistics
Course CODE: COM550

Question 03
In each of the following situations regarding the Case Study given above, explain what

graphical display you would use to present the information most appropriately. Do a
sketch of the display highlighting the important aspects that should be considered in
those graphs. (5*4 Marks)
(a) Research team wants to denote the overall students’ satisfaction. Assume that
overall students’ satisfaction is measured using 5-pint Likert scale taking scales
as Strongly satisfied, Satisfied, Neutral, Dissatisfied and Strongly Dissatisfied
(b) Research Team wants to present the gender distribution of the sample.
(c) Research team wants to present the Students’ satisfaction level by gender.
(d) Research Team is interested in showing the Students” Satisfaction level by the
programme type. Programme types offered by the Faculty are Postgraduate,

Undergraduate and Foundation.

Question 04
(a) Consider the following cases and decide whether they are binomial distribution
or not (06 Marks)

(i) Owner of a Imasha Rent-a-Car, who has 16 cars in his company check the
availability of break problems in his cars.

(ii) Faculty coordinator is selecting students those who have passed GCE A/L
examination to follow the undergraduate degree programme of the
Faculty out of the 100 applications received at the Faculty.

(iii) Faculty coordinator is categorizing 100 students’ application forms
based on the school type they attended for their A/L examination, either
National School, Semi-Government school or Private School.
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(b) LUXroofing Pvt Ltd is a one of the leading manufacturer of Zinc aluminum
roofing sheets claims that defective rate of his production is 2%. These roofing
sheets are packed using plastic film wrap and there exist 10 sheets in a bundle.
Retailer who ordered 25 such wraps, randomly selects a one wrap, which
consists of 10 roofing sheets in it.

(i) What is the probability that exactly one of them are defective (03 Marks)
(ii) What is probability that exactly none of them are defective (03 Marks)
(iii) Find the average number of defectives (02 Marks)
(iv) What is the variance (02 Marks)

(v) If a selected wrap consists of more than one defective sheet the lot will be
rejected by the retailer. Find the probability that lot will be accepted.(04 Marks)

Question 05
A new automated production process has had an average of 1.5 breakdowns per day.

Because of the cost associated with a breakdown, management is concerned about the
possibility of having three or more breakdowns during a day. Assume that breakdowns
occur randomly that the probability of a breakdown is the same for any two time intervals
of equal length, and that breakdowns in one period are independent of breakdowns in

other periods.

(a) Suggest a suitable probability distribution to model the above case (03 Marks)
(b) Write the probability density function of the above suggested distribution

(02 Marks)
(c) What are the parameters of the above distribution (02 Marks)
(d) What is the probability of having three or more breakdowns during a day?
(04 Marks)
(e) What is probability of having no breakdowns during a day? (04 Marks)
Page 8 of 12
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(f) What is the probability of having at most 15 breakdowns in a week (Assume that
firm operates FIVE days a week.) (05 Marks)

Question 06

(a) During COVID-19 lockdown period, most of the higher education institutes
conducted online lectures using different modes. Due to the delivery of online
lectures, some of the students had problems in connecting to the LIVE lectures,
downloading materials and so on. Higher education institutes conducted more
midterm assessments, assignments, case studies and quizzes during the delivery
online sessions. Professor of Social Sciences course decided to change the
evaluation criteria of his course module. Previous evaluation Criteria and new
evaluation criteria is given below.

Previous Evaluation Criteria

e Assignment Marks - 10% weight

¢ Midterm assessment - 10% weight
¢ Quiz/Case study- 10% weight

¢ Final Examination - 70% weight

New Evaluation Criteria

e Assignment Marks - 20% weight

e Midterm assessment - 20% weight
e Quiz/ Case study- 10% weight

¢ Final Examination - 50% weight

Marks obtained by TEN students of the class for Assignments, Mid term assessment,
Case study, quiz and final examination (All marks are in 100%) are summarised below.

e Calculate the final mark obtain by the each students according to the previous
evaluation criteria
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e Calculate the final mark obtain by the each students according to the new
evaluation criteria.

e Compare the results calculated above

(20 Marks)
Table 6.01
: Mid-term : Final
Student # Asildgn ;l:nt assessment Quslz/ c(lfase Examination
o Marks - Marks
1 55 65 85 68
2 62 61 82 78
3 85 89 79 77
4 75 70 90 98
5 45 60 94 81
6 89 85 88 79
7 82 80 87 80
8 75 79 74 79
9 77 65 96 71
10 74 59 68 69
Question 07

In an industrial process, the diameter of a ball bearing is an important component part.
The buyers set specifications on the diameter according to their preferences. The
implication is that no part falling outside these specifications will be accepted.

It is known that in the process the diameter of a ball bearing has a normal distribution
with mean 5.0 and standard deviation 0.005.

Please see the specification of two buyers given below

Buyer I:

Specification on the diameter of a ball bearing to be 5.0 + 0.01
Buyer 11I:

Specification on the diameter of a ball bearing to be 5.0 + 0.02

Page 10 of 12
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If ball bearing manufacturer send 1000 ball bears for two buyers calculate the number of
ball bears rejected by each buyer.

(20 Marks)

Question 08

(a) If A, B and C are any three events find expressions and Venn representations for
the below events. (2*3 Marks)
(i) None occurs
(ii) Only one event occurs
(iii) Not more than two occurs
(b) Give examples for Geographical, chronological, qualitative and quantitative
categorizations (04 Marks)
(c) It has been said that the less the variability, the more an average is representative
of a set of data. Comment on the meaning of this statement. (05 Marks)
(d) Describe the relationship between the mean and median of a set of data to indicate
the skewness of the distribution of values. (05 Marks)

---eeean=-END OF THE QUESTION PAPER----------
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"The Standardised Normal Distribution Table

-1.90
-1.85
-1.80
=175
-1.70
-1.65
-1.60
-1.55
-1.50
-1.45
-1.40
-1.35
-1.30
-1.25
-1.20
-1.15
-1.10
-1.05

P

0.00003
0.00023
0.0014
0.0016
0.0019
0.0022
0.0026
0.0030
0.0035
0.0040
0.0047

. 0.0054

0.0062
0.0071
0.0082
0.0094

0.0107 -

0.0122
0.0139
0.0158
0.0179
0.0202
0.0228
0.0256
0.,0287
0.0322
0.0359
0.0401
0.0446
0.0495
0.0548
0.0606
0.0668
0.0735
0.0808
0.0885
0.0968
0.1056
0.1151
0.1251
0.1357
0.1469

4

-1.00
-0.95
-0.90
-0.85
-0.80
-0.75
-0.70
-0.65
-0.A0
20.55
-0.50
-0.45
-0.40
-0.35
-0.30
-0.25
-0.20
-0.15
-0.10

-0.05 |

0.05
0.10
0.15
0.20
0.25
0.30
0.35
0.40
0.45
0.50
0.55

0.65
0.70
0.75
0.80
0.85

0.95
1.00

The distribution tabulated is that of the normal
distribution with mean zero and standard deviation
1. For each value of Z, the standardized normal
deviate, (the proportion P, of the distribution less
than Z) is given. For a normal distribution with
mean g and variance o the proportion of the
distribution less than some particular value X is

“obtained by calculating Z = ( X - 4 )/ o and reading

the proportion corresponding to this value of Z.

P . P
0.1587 105  0.8531
0.1711 .10 0.8643
0.1841 115 0.8749
0.1977 120 0.8849
0.2119 125  0.8944
0.2266 130 0.9032
0.2420 135 09115
0.2578 140 09192
0.2743 145 09265
U.2y12 1.50 09332
0.3085 155 09394
0.3264 160 09452
0.3446 1.65  0.9505
0.3632 170 0.9554
0.3821 1.75  0.9599
0.4013 1.80  0.9641
1.4207 1.85 00678
0.4404 1.90 09713
0.4602 1.95  0.9744
04801 . 200 09772
0.5000 205  0.9798
0.5199 <210 09821
0.5398 215 09842
0.5596 2.20 0.9861
0.5793 225  0.9878
0.5987 230  0.9893
0.6179 235  0.9906
0.6368 240 09918
0.6554 245 09929
0.6736 250  0.9938
0.6915 2.55  0.9946
0.7088 260 09953
0.7257 265  0.9960
0.7422 270  0.9965
0.7580 275 0.9970
0.7734 2.80  0.9974
0.7881 285  0.9978
0.8023 290  0.9981

© 0.8159 295  0.9984
0.8289 3.00  0.9986 ¢
0.8413 350 0.99977

4.00 0.99997
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Year 1 Semester 11
SEMESTER END EXAMINATION

Basic Knowledge in Engineering - ENGK0381

e  This paper consists of EIGHT questions on THREE (03) pages.

e Answer FIVE Questions including Question 0L

¢  Only non-programmable calculators are allowed.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

* If you have any doubt as to the interpretation of the wording of a question, make your own
decision, but clearly state it on the script.

e Write legibly

Date: 2020.09.25 Pass mark: 50% Time: 03 Hours

Question 01 (Compulsory)

a) What are the uses of following things onboard ships?

(i) Fresh Water (4 Marks)
(ii) Steam (4 Marks)
(iii) Compressed Air (4 Marks)
b) State the purpose of a boiler. (4 Marks)
c) What is the purpose of oily water separator? (4 Marks)
Question 02
a) What is the purpose of MARPOL 73/78 ANNEXES? (3 Marks)
b) What are the MARPOL 73/78 ANNEXES? (10 Marks)

¢) What is the maximum oil content of bilge water to be discharged over board
from machinery spaces ? (3 Marks)
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d) What is the purpose of Sewage treatment plant? (4 Marks)
Question 03

a) What are the main components of refrigeration system? (8 Marks)

b) What is the function of expansion valve? (4 Marks)

¢) Name 3 IMO recommended primary refrigerants. (4 Marks)

d) In air conditioning systems, what are the temperatures and relative humilities
for human comfort? (4 Marks)
Question 04

a) What are the 2 basic types of boilers? (3 Marks)

b) What is the purpose of boiler safety valve? (4 Marks)

¢) Name 5 boiler mountings. (5 Marks)

d) What is the purpose of boiler water level gauge glass? (4 Marks)

e) What is a composite boiler? (4 Marks)
Question 05

a) What is a pump? (4 Marks)

b) What are the 2 basic categories of pumps used onboard ships? (4 Marks)

c) Write 5 types of pumps used onboard ships and their (applications) uses.

(12 Marks)
Question 06
a) What is Internal Combustion (I.C.) engine? (4 Marks)
b) What are the 4 events (strokes) taking place in [.C. Engine? (4 Marks)
¢) What are the requirements to have combustion? (4 Marks)
Page 2 of 3
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d) What are the important elements for combustion in marine fuel oils? (4 Marks)

e) What are the products of combustion in 1.C. Engines? (4 Marks)
Question 07
a) What are the major components of Steering gear system? (10 Marks)

b) What are the Steering gear tests to be carried out 12 hours before leaving a port?
(10 Marks)

Question 08

Briefly describe the main purpose of following equipments onboard ships.

a) Fresh water generator (4 Marks)
b) Heavy fuel oil purifier (4 Marks)
c) Windlass (4 Marks)
d) Hatch covers (4 Marks)
e) Mooring winch (4 Marks)

END OF THE QUESTION PAPER
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Year 1 Semester 11

SEMESTER END EXAMINATION

Macroeconomics - ECONO0317

e This paper consists of EIGHT questions on SIX (06) pages.
¢ Answer FIVE Questions including Question OL.
¢ Only non-programmable calculators are allowed.

¢ You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.
e If you have any doubt as to the interpretation of the wording of a question, make your own

decision, but clearly state it on the script.
e Write legibly

Date: 2020.09.23 Pass mark: 50%

Time: 03 Hours

et

Question 01 (Compulsory)

(a) Following information are related to national income accounts for a hypothetical

economy:

Table 1.01
Information US $ Billion
Agriculture 2.01
Forestry 291
Fishing 1.09
Mining and quarrying 4.37
Manufacturing 452
Electricity, gas and water 532
Sewerage, waste treatment and disposal activities 4.52
Wholesale and retail trade 8.45
Information and communication 7.65
Public administration, defense, education, human health 8.53
and social work activities
Construction 150
Financial, insurance and real estate activities 5.44
Professional services 2.38
Indirect taxes 3.30

Page 1 of 6
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Subsidies 1.5

Net Factor income from abroad -2.40

Based on the above information, calculate,

(i) Value added in agriculture sector

(if)  Value added in industry sector

(ili)  Value added in service sector

(iv)  Gross Domestic Product at factor prices

(v)  Gross Domestic Product at market prices

(vi)  Gross National product at market prices (6*3 Marks)

(b) Briefly explain reason behind adding exports income and deducting imports
expenditure to calculate GDP in expenditure approach (02 Marks)

Question 02

(a) Briefly explain the main four stages of an economic cycle with characteristics
(04 Marks)
(b) Following information are given for a hypothetical Economy that consists of 3
sectors

Table 2.01
Components RS Millions
- 2000 +0.75yd
G 100
I 150
g 0.2Y
Tx 50

Based on the above information calculate,

(i) The value of the equilibrium out put

(if) The total private consumption at Equilibrium level of income

(iii) The Fiscal deficit / surplus of the country

(iv) The value of new Equilibrium output if investments are increased by Rs. 50
million (4*3 Marks)
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(c) explain the reason behind the usage of Real GDP rather than nominal GDP to
gauge economic wellbeing (04 Marks)

Question 03

(a) Look at the given information regarding employment and unemployment status
in Sri Lanka during the year 2019

Table 3.01
Total Population 21,800,000
Working age population 16,424,000
Economically active population 8,592,000
Employed population 8,181,000
(i) Calculate the unemployment rate (03 Marks)
(ii)  Calculate the labour force participation rate (LFPR) (03 Marks)

(b) Sri Lanka is still among the 20 countries that hold the highest gender gaps in
LFPR, worldwide. (Central bank report 2020). Briefly explain the reason behind
impeding the active participation of females in economic activities in Sri Lanka

(04 Marks)

(c) Clearly explain the Individual, Economic and social impact on high
unemployment situation in a country (06 Marks)

(d) What do you mean by natural unemployment? Briefly explain with example

(04 Marks)

Question 04

Following is an extract from the Central Bank press release on 21st July 2020

Inflation in July 2020
Headline inflation as measured by the year-on-year (Y-o-Y) change in the Colombo
Consumer Price Index (CCPI, 2013=100) increased to 4.2 per cent in July 2020 from
3.9 per cent in June 2020. This was mainly driven by monthly increase of prices of

items in Non-food category along with the statistical effect of the low base prevailed
in July 2019.

Page 3 of 6
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(i) Clearly explain the main two causes of inflation with appropriate examples and
graphs (10 Marks)

(ii) Calculate inflation rate in the year 2020 based on following information

Table 4.01
Value in LKR

Cost of the market basket in base year 2013 32,500

Cost of the market basket in the year 2019 34,300

Cost of the market basket in the year 2020 36,000
(05 Marks)
(i) Briefly explain the differences between National Consumer Price Index (NCPI)
and Colombo Consumer Price Index (CCPI) (05 Marks)

Question 05

“The concept, sustainable development has become an area where the world is
focusing today with prevailing negative consequences occurring to almost all the
countries in the world”.

(a) Clearly define the concept “sustainable development” by comparing and
contrasting with economic growth and economic development (06 Marks)

(b) “Sustainable Development Goals set by United Nation Development Programme,
are mainly targeted to transform our world in 2030”. Briefly explain the following
3 goals with appropriate examples
(i) Quality Education
(i) Gender Equality
(iii) Clean water and sanitation (3*3 Marks)

(c) Explain the main criteria to be used in the calculation of Physical Quality of life
index, by further mentioning it’s strengths and weaknesses. (05 Marks)

Page 4 of 6




CINEC

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

Question 06

(a) Money is an essential commodity, which acts as a medium of exchange. Clearly
explain the reasons behind evolution of money (05 Marks)

(b) Briefly explain the relationship between Inflation and the money supply of a
country, with appropriate theories and examples (06 Marks)

(c) Following information are provided for you related to money supply of Sri Lanka,
according to central bank report 2019,

Table 6.01
Rs. Billion
Currency held by Public 494.2
Currency held by Commercial Banks 183.8
Deposits held by Commercial banks in Central Bank 254.6
Time and Savings Deposits of public in commercial 6,047.2
banks
Adjusted foreign currency deposits 711.4
Total Demand deposits 371.3
Calculate,
(1) Narrow Money supply (M1), broad Money supply (M2), and the
consolidated broad Money supply (M2b) (06 Marks)
(i)  Money Multiplier based on M2 (03 Marks)
Question 07
(a) Clearly list the main and sub functions of a commercial bank (05 Marks)

(b) Assume a person called Mr. A deposited Rs. 5000 cash in his commercial bank.
Under the assumptions of money creation, calculate
(i) The total amount of deposits created by the commercial banking system
(ii)  The total amount of loans created by the commercial banking system

(ii) ~ Prepare the final statement of financial position at the end of money creation

process
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if statutory reserve ratio is 20% (10 Marks)
(c) Clearly explain on the open market operations carried out by central banks as a

quantitative tool of controlling money supply. (05 Marks)

Question 08

(a) Read the below paragraph

The Monetary Board (MB) of the Central Bank of Sri Lanka (CBSL) at its meeting
held on 10 July 2020 has decided to suspend business activities of ETI Finance Ltd
(ETIF) and Swarnamahal Financial Services PLC (SFSP), in terms of Section 31 of
the Finance Business Act, No. 42 of 2011 (FBA) with effect from 13 July 2020. ETIF
and SFSP have become insolvent due to various irregularities taken place, since
2011. Hence, due to the inability of Board of Directors and Senior Management of
the respective companies to satisfactorily address the said deficiencies,
the Monetary Board on 02" January 2018 issued Directions restricting the affairs
of the Companies and the powers of the Board of Directors of the two companies.
A Panel of Management was also appointed by the Monetary Board to oversee

the affairs of both Companies

(i)  Asarecent well-known case in Sri Lanka, give your opinions on the duty of
Central Bank of Sri Lanka regarding this situation, as the main regulatory
authority of Sri Lankan Financial System (08 Marks)

(ii) Briefly explain the importance of financial institutes as “Financial
intermediaries” in a country’s financial system (05 Marks)

(b) Clearly explain about short term and long-term financial instruments introduced

in Sri Lankan Financial Markets. (07 Marks)

dhataris END OF THE QUESTION PAPER----=-=-nmmmmeemm
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Year 1 Semester II
SEMESTER END EXAMINATION
Principles of Management - MAGT0361

¢ This paper consists of EIGHT questions on THREE (03) pages.

¢ Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

¢ You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e  Write legibly

Date: 2020.09.21 Pass mark: 50% Time: 03 Hours

Question 01: (Compulsory)

Describe Human Resource Management (HRM) process and identify how the knowledge
regarding this process can assist the managers in the staffing of the organization and

sustaining of high employee performance. (20 Marks)
Question 02
(a) Why planning regarded as a primary function of management? Discuss the two (2)
key components of planning. (10 Marks)
(b) Explain the change process that an organization go through highlighting managers
role under each step. (10 Marks)
Question 03
(@)  Define the term organization structure? (04 Marks)
(b)  List the six elements of organizational design. (06 Marks)
()  Name one types of structure that is mechanistic and one type of structure that is
organic and clearly explain the nature of each structure. (10 Marks)
Page1of 3
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Question 04

(a) State what is meant by internal and external environment of business. Within  the
context of the business environment, explain how external factors/ forces and

influence the organization performance. (12 Marks)
(b) Briefly explain types of growth strategies used by managers using examples.
(08 Marks)
Question 05
(@)  Define managerial function of control and explain the process of controlling in an
organization. (12 Marks)
(b)  Explain two main type of control tools used in organisation. (08 Marks)
Question 06
(a) Briefly explain the roles of a manager. (10 Marks)

(b) Write a short note on “types of problems” and “types of decisions”. (10 Marks)

Question 07

Write short notes on any four (4) of the following topics.
(a) Kurt Lewin’s Leadership Styles
(b) Blake Mouton Managerial (Leadership) Grid
(c) Hersey and Blanchard’s Situational Leadership Theory
(d) Goal-setting theory
(e) Herzberg’'s Two-Factor Theory
(f) Maslow’s hierarchy of needs
(5*4 Marks)
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Question 08
(@)  There are various internal and external factors that affect group performance.
Discuss two internal factors that affect the group performance. (10 Marks)
(b)  Define and describe the communication process, highlighting its key components.
(10 Marks)
END OF THE QUESTION PAPER------====znnn-~
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Year 1 Semester 11
SEMESTER END EXAMINATION
English for Business I - ENGL10308

e This paper consists of FIVE questions on EIGHTEEN (18) pages.

e Answer ALL Questions.

¢ Only non-programmable calculators are allowed.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

¢ If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e Write legibly

" Date: 2020.09.18 Pass mark: 50% Time: 03 Hours

— ees was 5 BN B BN BN B G O BN D B B A B D EE s

Question 01 (20 marks)
Read the passage and answer the questions given below.

The shipping container is one of the mainstays of international trade. The globalised modern
economy depends on the rapid and efficient movement of goods that containerisation
allows. In many ways it was the advent of the container that allowed this globalised
economy to develop.

Invented during World War two as an efficient method of moving equipment to the front
lines, there are now at any one time up to 15 million containers being used to transport
goods on land and sea or waiting to be filled at factories and ports. They are vital in the
supply chain and have allowed the added efficiency of "just in time" inventory management,
where companies no longer keep large warehouses of stock or parts, but rely on the ability
to quickly order what they want from their suppliers. It is estimated that since the 1980s the
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ratio of inventory to GDP in American business' has fallen from 25% to 15%. Altogether
total business inventory in the US is estimated at $1.5 trillion, without "just in time"
management methods this might be as much as $2.5 trillion.

This means that companies rely more and more on the prompt delivery of parts from their
suppliers to fulfill orders. This is particularly true of industries such as computer
manufacture, which no longer make all the parts of the products that bear their names, but
instead out source, often to suppliers half way around the world. American computer
manufacturers are, for example, increasingly dependent on Asian microchip manufacturers
in countries such as Taiwan and Thailand. An example of the kind of problems any
disruption to the supply chain causes came after the September 11 attacks in the US when
the Canadian border was shut for just two days causing chaos in the Detroit car industry,
which relies on a regular flow of parts from Canada.

There are three main flows of sea borne cargo: trans-Pacific, trans-Atlantic and Europe-Far
East. The trans-Pacific route is by far the largest flow. At 11 million TEU ("twenty-foot
equivalent units") a year, it is almost twice the volume of Europe-Far East trade and three
times the size of trans-Atlantic traffic. During the 1990s, during America's boom years, the
trade of all the routes grew enormously and this led to more and larger ships being built.
The container fleet grew by 12% in 2001. Until then, a container ship commonly carried 600
TEU, during the 1990s ships were being build that could carry up to 8000 TEU. However,
after the 1990s there was a dramatic fall off in trade. Trans-Pacific trade, for example, fell to
50% of its 1990s high.

This down turn is being handled by the shipping alliances which manage the global trade.
These large organizations are responsible for maintaining the fleets and seeing that the flow
of goods is uninterrupted. This is a job that governments feel that the regular and reliable
flow of trade is so important that in many cases the shipping alliances are exempt from anti-
trust and monopoly laws. Their response has been to cut services, rest some of the older
ships and share the burden amongst themselves.

At first, containers reduced theft as it was more difficult for casual thieves to get into the
containers. However, criminal gangs soon saw the potential for taking whole containers.

Page 2 of 18
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This became a profitable crime as the average value of a container grew to $500,000 by the
1980s. Criminals also benefited from the convenience of containers when using them to
transport drugs, illegal immigrants or other illegal goods. Measures to combat this,
including stronger locks and preference schemes for shippers who have anti-theft
programmes, have had some success, but crime is a constant menace to the container trade.

Increasingly, the huge number of containers and their self-contained and enclosed nature
has been raising worries about their possible use by terrorists. In fact, possible terrorists
have already been found hiding in containers. This is particularly worrying considering that
only 2% of containers are inspected. Containers are also extremely difficult to track and
monitor. This is because they pass through so many countries and jurisdictions and because
they can travel on both land and sea. Each transaction involving a container can involve as
many as 25 different parties and generate between 30 and 40 documents. For a ship carrying
600 TEU this would result in approximately 4000 documents. The sheer scale of the
information involved makes tracking containers a daunting task. Screening them to
determine the contents is another solution that would take a great deal of effort because of
the large numbers of containers. Additionally, it might cause delays in delivery that would
disrupt international trade and industry out of proportion to the good the searches do.

For the foreseeable future, there would seem to be no alternative to containers and their use
is bound to grow. They are one of the cornerstones of global trade, but many yet cause
problems their inventors never envisaged.

Part A
Underline the best TWO alternatives to complete the sentences. (06 marks)
L. Thie svEntion of CODTAIREIE ..o coumcuammm s T IS R s

I.  resulted from the efficient movement of goods.
II.  led to more global trade.
IMI.  was initially for military purposes.
IV.  came just in time for many managers.
V.  relied on the ability to receive orders quickly.
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2, Containers are important DECatsSe they ........ccusemsrescassnssnnsarszeasmmsmmensscansssasion
I.  prevent the need for companies to hold large amounts of stock.
II.  increase the amount of business inventory.
III.  make trade between countries on different sides of the world easier.
IV.  regularly supply manufactures in Canada.
V.  reduce the amount of out sourcing needed by companies.
;3 6Tl b T (e ng s L o o RSO e e S U————— e
| 8 has nearly double the amount of trade as that of the Europe-Far East trade
route.
1. had its container fleet increase by 12%.
I1I. sparked the boom years of the 1990s.
Iv. usually carried around 600 TEU.
V. has witnessed a substantial decrease in container trade.

Part B

Write complete answers for the questions given below. Marks will be reduced if the answers

are given in incomplete sentences. (12 marks)

1. Do companies keep large warehouses in the modern context? Give reasons for your

answer.

.....

.....

-----

..........................................................................................................

..........................................................................................................

..........................................................................................................

..........................................................................................................

..........................................................................................................

..........................................................................................................

Page 4 of 18



00040
CINEC

CAMPUS

Beycnd A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

2. Write two main flows of sea borne cargo?

...............................................................................................................
...............................................................................................................
...............................................................................................................
...............................................................................................................
...............................................................................................................

...............................................................................................................

4. What are the steps taken by the shipping alliances to handle the issues created after
the downturn?

...............................................................................................................
...............................................................................................................
...............................................................................................................
...............................................................................................................
...............................................................................................................

...............................................................................................................

5. “... crime is a constant menace to the container trade”. Do you agree with this
statement according to the points discussed in the passage? Explain in not more than
30 words.

...............................................................................................................
...............................................................................................................
...............................................................................................................

...............................................................................................................
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...............................................................................................................

...............................................................................................................

6. According to the passage, what are the solutions given to overcome theft in the
container trade?

...............................................................................................................
...............................................................................................................
...............................................................................................................
...............................................................................................................

...............................................................................................................

...............................................................................................................
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Question 02 (20 marks)
Part A
Examine the graph and fill in the blanks in the description given below using the words in
the box. (10 marks)
London Underground station passengers
© 500
g 400
3 o
< v
g 100
z 0 T T T T T T T L
2 8888888888848 8828 8
&€ K @ & 8 £ 8@ xw o @R FN
Time
rises drop quickly fluctuations a slight a rapid rise

decline fall significantly ~ sharp increase aplateau  apeak

The graph shows the (1) .............ooooeeeeeeenne in the number of people at a London

underground station over the course of a day.

The busiest time of the day is in the morning. Thereis a (2) ..........coooovvviiiieienn between
06:00 and 08:00, with 400 people using the station at 8 o’clock. After this the numbers (3)
to less than 200 at 10 o’clock. Between 11 am and 3 pm the number

£ | SRS — » W ()i ccnssvnnsansimnsonsasenes of just under 300 people using

the station.
Page 7 of 18



00040

CINEC

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

In the afternoon, numbers (6)........cccorersnonmsnsnsces with less than 100 using the station at
4 pm. There is then (7).......ccccoooeiiiiinininins ) T— R s D of 380 at 6pm.
After 7 pm, numbers (9) .......coooeeiiiiiiiiinnn Moo Bcdy ol L) (RRERRRRRSR—————

increase again at 8pm, tailing off after 9 pm.

Overall, the graph shows that the station is most crowded in the early morning and early

evening periods.

Part B
The following graph illustrates the sales turnover of Global Logistics Lanka (Pvt. Ltd).
Examine the graph carefully and write a description in 150 words. (10 marks)
7
100

90

80

70

Sales
=]
)
L~

20 \./ \“.—.
10
0 T T Y T T T -1 T
jan feb mar apr may jun jul aug  sep oct nov  dec
KMonth
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................................................................................................................................................................
...............................................................................................................................................................
................................................................................................................................................................
...............................................................................................................................................................
................................................................................................................................................................
...............................................................................................................................................................

................................................................................................................................................................

Question 03 (20 marks)

Part A
Fill in the blanks to form a complex sentence using the subordinators given below.
(10 marks)

because funless /although / whereas / if
1. SriLanka has a high level of outward migration, Japan's is quite low.

2. the government has tried to reduce people's sugar intake, it has not

been successful.

3. People are continuing to get sick in cities there is so much pollution

produced by cars.
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Transport related problem in Sri Lanka will not be solved the

government take immediate action.

5. More people will attend university the government provides

student funding,.
Part B
Underline the most suitable subordinator. (10 marks)

1. The employees must be in at eightoclock ..................... (unless/ because/
although) it is the company rule.

2, She got her fivst degree ....couvassrsssner (when/ which/ who) she was 20 years old.

3. You will be able to apply forajob ..................... (although/unless/ provided)
you complete your first degree.

4. Imetmy friend in London, ..................... (where/ wherever/ whereas) she grew
up from a young age.

5. The responsibility is with ..................... (however/whoever/ whenever) is taking
care of the children.

6. Youcan gototheparty .......c.cceenenn.e. (unless/wherever/ as long as) you have
completed you work.

7. The computer stopped working ..................... (while/when/ where) the power
cut out.

;S . (Whenever/If/ After) you arrive is fine with us.

9. Myboss, .....ccconncvevnnsns (who/ where/ when) lives in Japan, likes Japanese
culture.

10. I watched the TV documentary on logistics management ..................... (unless/

before/ because) I went to bed.
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Question 04 (20 marks)

Imagine you are a suitable candidate for the following post and write a cover letter to the

Human Resources Manager.

Manager - Transport & Logistics

We are looking for an efficient individual to be responsible for managing logistics activities
of the company located in Kadawatha and you are required to organize and monitor
distribution of goods to customers, depot and showrooms while maintaining a good rapport

with the stakeholders.

Required Qualification

4-year college degree
e Minimum of 2-year work experience

Strong cognitive skills, including problem analysis and decision making

Ability to work flexible hours including weekends

Description

e Complete accountability on warehouse management

o Extensively handle the incoming and outgoing cargo/raw materials
e Record keeping and inventory handling

e Work closely with systems implementation and their management.

Required Skills

e Coordinating skills
e Strong organizational skills
¢ Interpersonal skills
e Good communication skills

Page 12 of 18
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Manager- Human Resources and Administration,
PO Box 04893
Kadawatha

(Word count: 150)
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............................................................................................................................................................

............................................................................................................................................................

Question 05 (20 marks)

Write an essay on the following topic. (Word count - 200 words)
a) Illustrate the main points in a diagram.
b) Write your essay accordingly.

Some people think that in order to deal with the problem of congestion in cities, privately
owned vehicles should be banned in main cities, while others consider this to be
unrealistic solution.

Discuss both sides and give your opinion clearly.

Part A (05 marks)

[ustrate the main points in a diagram.
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Part B (15 marks)
Write your essay based on the above structure. (Word count - 200 words)
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.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
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.................................................................................................................................
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.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
.................................................................................................................................
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.................................................................................................................................
.................................................................................................................................
.................................................................................................................................

.................................................................................................................................
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Year 1 Semester 11
SEMESTER END EXAMINATION
Mathematics for Business I - MATHO0379

o This paper consists of EIGHT questions on SIX (06) pages.

e Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

e You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e Write legibly

Date: 2020.09.16 Pass mark: 50% Time: 03 Hours

Question 01 -(Compulsory)

(a) Find the general solution of the following Second Order Differential Equations.

2
2%+%¥_Y =0 (04 Marks)
_ ‘ ) . 33F
(b) Consider the following function F. Find v

F (x,y,z) = e2y+3xz
(04 Marks)

(c) Check the following Graph is Eulerian graph or Not? Justify your answer.
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(10 Marks)
(d) The velocity ‘v’ of a particle is given by v = e?! Cos [(g) t]. Find the distance
(s) travelled by the particle from t =2 to t = 3 given that v = g—i—

(06 Marks)
(e) Suppose a simple graph has 15 edges, 3 vertices of degree 4, and all

Others of degree 3. How many vertices does the graph has?

(04 Marks)
() State whether following proposition is true or false. Justify your answer.
3 x€ (5 o)NN, x2<25
(06 Marks)
Page 2 of 6
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(g)  Draw the graph for the following

B, Xeit

2, X€E Z-

Finding the area which covered by F with x- axis from x =-2tox =3

(06 Marks)
Question 02

A building supply has two locations in town. The office receives orders from two
customers, each requiring 3/4-inch plywood. Customer A needs fifty sheets and
Customer B needs seventy sheets. The warehouse on the east side of town has eighty
sheets in stock; the west-side warehouse has forty-five sheets in stock. Delivery costs per
sheet are as follows: $0.50 from the eastern warehouse to Customer A, $0.60 from the
eastern warehouse to Customer B, $0.40 from the western warehouse to Customer A, and
$0.55 from the western warehouse to Customer B.

Use Linear Programming Method to Find the shipping arrangement to minimize the
Total transportation cost. (15 Marks)

Question 03

(a) Draw the graph whose vertices and edges are as follows. Is this graph simple graph?
Justify your answer.

V={uv,w,xvypqrsto} E={us, VP, X1, OX, UX, VX, VY, Wy, 0x}
(04 Marks)
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(b) Suppose that a tree has two vertices of degree 5. Three vertices of degree 4, six
vertices of degree 3, eight vertices of degree 2 and r vertices of degree 1. Find r

(05 Marks)
(c) Is there a exist graph on 18 vertices where two vertices have degree 16 and the
other 16 Vertices have degree 2. Justify your answer. (06 Marks)
Question 04

a) Find the general solution of the following Second Order Differential Equations.
S & q
(v is function of t)

2
() 922-62+y=0 G 22+ %24y=0 (06Marks)

(b) Find the particular solution of the following Second Order Differential Equations.

(v is function of t)
2
@) 2-2+2-y=0, yO=-1, y0)=1
G 9-2+6%4y=0,y(0)=1, y'(0)=-2 09 Mark
—th—+y=0, y()=1, yl)= (09 Marks)
Question 05

(a) Use the logarithm laws to simplify the following

() logs(2xy)® - logs (2xy?) + logs (3 y)
(i) logs (81x%) - logs (3x)?

(b) If logio(8) = x and logio (3) =y , express the following in terms of x , y only

Page 4 of 6
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(i) logw (48/81)
(i)  logio (480)

(04 Marks)
(c) The cube root of x varies inversely as the square of y ;
if x=8 when y=3, find xwheny=>5/2 (04 Marks)
(d) Simplify the followings
[(a®b1e?)?*(2bc)?] / [(abe)’]
(03 Marks)
Question 06
(a) Consider the following function F .
B(xyz)=xy*z+ xy2+y3+ xt2
Find the following partial derivatives with respect to x, y and z.
.~ OF ..\ OF e R d*F a%F
(l) ax (11) 5 (lll) dxdy (IV) dxdz (V) dyodxdz
(15 Marks)

Question 07
(a) Determine the following indefinite integral. (a, b and c are constants)
(i) [chbCosaxdx

(i) [ be® dx
(06 Marks)

Page 5 of 6




00015

CINEC

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COMS550

(b) Determine the following definite integral. ( a is constant )

s 1
(i) f_llzx2 —1| dx
i) f OH/ “ 4 Sinax e~Cosa  dx
(06 Marks)

(c) Calculate the area enclosed by y=-t2+6 andy =3
(03 Marks)

Question 08

Transport company has two types of trucks, Type A and Type B. Type A has a
refrigerated capacity of 20 m3 and a non-refrigerated capacity of 40 m3 while Type B has
the same overall volume with equal sections for refrigerated and non-refrigerated stock.
A grocer needs to hire trucks for the transport of 3,000 m3 of refrigerated stock and 4 000
m3 of non-refrigerated stock. The cost per kilometer of a Type A is $30, and $40 for Type
B. Build Linear Programming model to determine how many trucks of each type should
the grocer rent to achieve the minimum total cost?

(15 Marks)
===sew=mm===e END OF THE QUESTION PAPER --==-====n---
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Year 1 Semester 11
SEMESTER END EXAMINATION

Mathematics for Business II - MATHO0379

e This paper consists of EIGHT questions on SIX (06) pages.

e Answer FIVE Questions including Question 01.

¢ Only non-programmable calculators are allowed.

¢ You may use appropriate graphs, diagrams, equation/s to prove or justify the answers.

If you have any doubt as to the interpretation of the wording of a question, make your
own decision, but clearly state it on the script.

e Write legibly

Date: 2020.09.16 Pass mark: 50% Time: 03 Hours

Question 01 -(Compulsory)

(a) Find the general solution of the following Second Order Differential Equations.

d?y dy -
. - e (04 Marks)
- _ ) . a%F
(b) Consider the following function F. Find iy

F (X,YIZ) - 82xy+3xz

(04 Marks)

(c) Check the following Graph is Eulerian graph or Not? Justify your answer.
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(10 Marks)
(d) The velocity ‘v’ of a particle is given by v = e! Cos [(g) t]. Find the distance

ds

(s) travelled by the particle from t =2 to t =3 given that v =—

(06 Marks)

(e)  Suppose a simple graph has 15 edges, 3 vertices of degree 4, and all

Others of degree 3. How many vertices does the graph has?
(04 Marks)

() State whether following proposition is true or false. Justify your answer.

3 x€ (5, ©)NN, x2 <25

(06 Marks)

Page 2 of 6




00041

CINEC

CAMPUS

Beyond A Graduate

Faculty of Management and Social Sciences
Department of Logistics & Transport
BSc in International Transportation Management and Logistics
Course CODE: COM550

(g)  Draw the graph for the following

3, XeZl*
F(x)

2. XE Z

Finding the area which covered by F with x- axis from x =-2tox=3
(06 Marks)

Question 02

A building supply has two locations in town. The office receives orders from two
customers, each requiring 3/4-inch plywood. Customer A needs fifty sheets and
Customer B needs seventy sheets. The warehouse on the east side of town has eighty
sheets in stock; the west-side warehouse has forty-five sheets in stock. Delivery costs per
sheet are as follows: $0.50 from the eastern warehouse to Customer A, $0.60 from the
eastern warehouse to Customer B, $0.40 from the western warehouse to Customer A, and
$0.55 from the western warehouse to Customer B.

Use Linear Programming Method to Find the shipping arrangement to minimize the
Total transportation cost. (15 Marks)

Question 03

(a) Draw the graph whose vertices and edges are as follows. Is this graph simple graph?
Justify your answer.

V={uv,w,xvypqrsto} E =lusvp, xr ox ux vx, vy, wy, ox}
(04 Marks)
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(b) Suppose that a tree has two vertices of degree 5. Three vertices of degree 4, six
vertices of degree 3, eight vertices of degree 2 and r vertices of degree 1. Find r

(05 Marks)
(c) Is there a exist graph on 18 vertices where two vertices have degree 16 and the
other 16 Vertices have degree 2. Justify your answer. (06 Marks)
Question 04

(a) Find the general solution of the following Second Order Differential Equations.
(v is function of t)

) 9-22-62+y=0 (ii) +24y=0 (06 Marks)

dt?

(b) Find the particular solution of the following Second Order Differential Equations.

(v is function of t)
@) 2-2+2Z-y=0, y@©@=-1, y0)=1
G 922+6%4y=0,y0) =1, y(0) =- 09 Mark
dt2 dt V= i ¥ — ,Y()—- 2 ( ars)
Question 05

(a) Use the logarithm laws to simplify the following

(i) logs(2xy)’ - logs (2xy?) + log (3x* y°)
(i) logs (81x%) - logs (3x)?

(b) If logio(8) = x and logo (3) =y , express the following in terms of x , y only
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(i) logio (48/81)
(i)  logi (480)

(04 Marks)
(c) The cube root of x varies inversely as the square of y ;
ifx=8 when y=3,find x wheny=5/2 (04 Marks)
(d) Simplify the followings
[(a*b?c®)>*(2bc)?] / [(abe)]
(03 Marks)
Question 06
(a) Consider the following function F .
Flxgyz )=zt xyey+
Find the following partial derivatives with respect to x, y and z.
-\ OF . OF oo OFF . a%F a3F
@ % @ 2 Doy @ 2 M 55
(15 Marks)

Question 07
(a) Determine the following indefinite integral. (a, b and c are constants)

(i) [cbCosaxdx

(i) [ be™ dx
(06 Marks)
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(b) Determine the following definite integral. ( a is constant )

@ [ lx%—1] dx
(i) f: /2@ 4 Sinax e~Cosax  dx
(06 Marks)

(c) Calculate the area enclosed by y=-t+6 and y =3
(03 Marks)

Question 08

Transport company has two types of trucks, Type A and Type B. Type A has a
refrigerated capacity of 20 m3 and a non-refrigerated capacity of 40 m3 while Type B has
the same overall volume with equal sections for refrigerated and non-refrigerated stock.
A grocer needs to hire trucks for the transport of 3,000 m3 of refrigerated stock and 4 000
m3 of non-refrigerated stock. The cost per kilometer of a Type A is $30, and 540 for Type
B. Build Linear Programming model to determine how many trucks of each type should
the grocer rent to achieve the minimum total cost?

(15 Marks)

w-enen=eeeeuz END OF THE QUESTION PAPER ----v--nnv-
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